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Child Development and Pedagogy

Directions: Answer the following questions (Q. Nos. 1 to 30) 
by selecting the correct/most appropriate options.

1.	 Which one of the following is a critique of theory of 
multiple intelligences?
(1)	 Multiple intelligence are only the ‘talents‘ 

present in intelligence as a whole.
(2)	 Multiple intelligence provides students to 

discover their propensities.
(3)	 It overemphasises practical intelligence.
(4)	 It cannot be supported by empirical evidence at 

all.

2.	 Which one of the following pair is least likely to be a 
correct match?
(1)	 Children enter in : Chomsky
	 the world with 
	 certain knowledge
	 about language
(2)	 Language and : Vygotsky
	 thought are
	 initially two
	 different activities
(3)	 Language is : Piaget
	 contingent on
	 thought
(4)	 Language is : B.F. Skinner
	 a stimuli in
	 environment

3.	 Features assigned due to social roles and not due to 
biological endowment are called:
(1)	 Gender role attitudes
(2)	 Gender role strain
(3)	 Gender-role stereotype
(4)	 Gender role diagnosticity

4.	 Which of the following will be most appropriate to 
maximise learning?
(1)	 Teaching should identify her cognitive style as 

well as of her students cognitive style.
(2)	 Individual difference in students should be 

smoothened by pairing similar students.
(3)	 Teacher should focus on only one learning style 

to bring optimum result.
(4)	 Students of similar cultural background should 

be kept in the same class to avoid difference in 
opinion.

5.	 All of the following promote assessment as learning 
except.
(1)	 telling students to take internal feedback.
(2)	 generating a safe environment for students to 

take chances.
(3)	 tell students to reflect on the topic taught.
(4)	 testing students as frequently as possible.

6.	 When a cook tastes a food during cooking it may be 
akin to:
(1)	 Assessment of learning
(2)	 Assessment for learning
(3)	 Assessment as learning
(4)	 Assessment and learning

7.	 Differentiated instruction is:
(1)	 using a variety of groupings to meet students 

needs.
(2)	 doing something different for very student in 

the class.
(3)	 disorderly or undisciplined student activity.
(4)	 using groups that never change.

8.	 In a culturally and linguistically diverse classroom, 
before deciding whether a student comes under 
special education category, a teacher should:
(1)	 Not involve parents as parents have their own 

work.
(2)	 Evaluate student on her/his mother language to 

establish disability.
(3)	 Use specialised psychologists.
(4)	 Segregate the child to neutralise environmental 

factor.
9.	 Learning disabilities may occur due to all of the 

following except.
(1)	 Teachers way of teaching
(2)	 Prenatal use of alcohol
(3)	 Mental retardation
(4)	 Meaning it is during infancy

10.	 An inclusive school reflects on all the following 
questions except :
(1)	 Do we believe that all students can learn.
(2)	 Do we work in teams to plan and deliver 

learning enabling environment
(3)	 Do we properly segregate special children from 

normal to provide better care.
(4)	 Do we adopt strategies catering for the diverse 

needs of students.
11.	 Gifted students are:

(1)	 Convergent thinkers	 (2)	 Divergent thinkers
(3)	 Extrovert	 (4)	 Very hard working
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12.	 The shaded area represent students in a normal 

distribution who fall:

(1)	 At s = 0	 (2)	 Between 2s – 3s
(3)	 After 3s	 (4)	 Between s – 2s

13.	 Which one of the following pair would be most 
appropriate choice to complete the following 
sentence?

	 Children __________ faster when they are involved 
in the activities that seem to be __________ .
(1)	 Forget; useful in a classroom
(2)	 Recall; linked with their classwork only
(3)	 Memorise; culturally neutral
(4)	 Learn; useful in real life

14.	 CBSE prescribed group activities for students in 
place of activities for individual students. The idea 
behind doing so could be:
(1)	 to overcome the negative emotional response 

to individual competition which may generalise 
across learning.

(2)	 to make it easy for teachers to observe groups 
instead of individual students.

(3)	 to rationalise the time available with schools 
most of which do not have enough time for 
individual activities.

(4)	 to reduce the infrastructural cost of the activity.
15.	 The conclusion ‘Children can learn violent depicted in 

movies‘ may be derived on the basis of the work 
done by which of the following psychologist?
(1)	 Edward L. Thorndike	 (2)	 J.B. Watson
(3)	 Albert Bandura	 (4)	 Jean Piaget

16.	 Students observe fashion shows and try to imitate 
models. This kind of imitation may be called:
(1)	 Primary simulation	 (2)	 Secondary simulation
(3)	 Social learning	 (4)	 Generalisation

17.	 If students repeatedly make errors during a lesson, a 
teacher should:
(1)	 make changes in instruction, tasks, timetable or 

seating arrangements.
(2)	 leave the lesson for the time being and come 

back to it after some time.
(3)	 identify the erring students and talk to principal 

about them.
(4)	 make erring students stand outside the 

classroom.
18.	  Following are some techniques to manage anxiety 

due to an approaching examination; except.
(1)	 familiarising with the pattern of question paper
(2)	 thinking too much about the result
(3)	 seeking support
(4)	 emphasising strengths

19.	 Bloom’s taxonomy is a hierarchical organisation of 
__________ .
(1)	 achievement goals
(2)	 curricular declarations
(3)	 reading skills
(4)	 cognitive objectives

20.	 A, B and C are three students studying English. ‘A‘ 
finds it interesting and thinks it will be helpful for 
her in future. ‘B‘ studies English as she wants to 
secure first rank in the class. ‘C‘ studies it as she is 
primarily concerned to secure passing grades. The 
goals of A, B and C respectively are:
(1)	 Mastery, performance, performance avoidance
(2)	 Performance, performance avoidance, mastery
(3)	 Performance avoidance, mastery, performance
(4)	 Mastery, performance avoidance, performance

21.	 Even though this was clearly in violation of his 
safety needs, Captain Vikram Batra died fighting 
in the Kargil war while protecting his country. He 
might have:
(1)	 sought novel experience
(2)	 achieved self-actualisation
(3)	 ignored his belongingness needs
(4)	 wanted to earn a good name to his family

22.	 Extinction of a response is more difficult following:
(1)	 partial reinforcement
(2)	 continuous reinforcement
(3)	 punishment
(4)	 verbal reproach

23.	 Mastery orientation can be encouraged by:
(1)	 focusing on students individual effort.
(2)	 comparing students successes with each other.
(3)	 assigning lot of practice material as home 

assignments.
(4)	 taking unexpected tests.

24.	 Which one of the following is correctly matched?
(1)	 Physical	 	 :	 Environment
	 Development
(2)	 Cognitive	 	 : Maturation
	 Development
(3)	 Social Development	 	 :	 Environment
(4)	 Emotional Development	 :	 Maturation

25.	 All the following facts indicate that a child is 
emotionally and socially fit in a class except.
(1)	 develop good relationships with peers
(2)	 concentrate on and persist with challenging 

tasks
(3)	 manage both anger and joy effectively
(4)	 concentrate persistently on competition with 

peers
26.	 Which of the following statements support role of 

environment in the development of a child?
(1)	 Some students quickly process information 

while others in the same class do not.
(2)	 There has been a steady increase in students 

average performance on IQ tests in last few 
decades.

(3)	 Correlation between IQs of identical twins raised 
in different homes is as high as 0.75.

(4)	 Physically fit children are often found to be 
morally good.
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27.	 Socialisation includes cultural transmission and:

(1)	 discourages rebellion
(2)	 development of individual personality
(3)	 fits children into labels
(4)	 provides emotional support

28.	 A teacher shows two identical glasses filled with an 
equal amount of juice in them. She empties them 
in two different glasses one of which is taller and 
the other one is wider. She asks her class to identify 
which glass would have more juice in it. Students 
reply that the taller glass has more juice. Her 
students have difficulty in dealing with:
(1)	 Accommodation	 (2)	 Egocentrism
(3)	 Decentring	 (4)	 Reversibility

29.	 Karnail Singh does not pay income tax despite 
legal procedures and expenses. He thinks that he 
cannot support a corrupt government which spends 
millions of rupees in building unnecessary dams. 
He is probably in which state of Kohlberg’s stages of 
moral development.
(1)	 Conventional	 (2)	 Post conventional
(3)	 Pre conventional	 (4)	 Para conventional

30.	 Intelligence theory incorporates the mental processes 
involved in intelligence (i.e. meta-components) 
and the varied forms that intelligence can take (i.e. 
creative intelligence)
(1)	 Spearman’s ‘g’ factor
(2)	 Sternberg’s triarchic theory of intelligence
(3)	 Savant theory of intelligence
(4)	 Thurstone’s primary mental abilities

Mathematics and Science

Directions: Answer the following questions by selecting the 
correct/most appropriate options.
31. 	 The number of integers less than – 3 but greater 

than – 8 is:
(1)	 2	 (2)	 3
(3)	 4	 (4)	 6

32.	 The distance between two places is 12 km. A map 
scale is 1 : 25000. The distance between the two 
places on the map, in cm, is:
(1)	 24	 (2)	 36
(3)	 48	 (4)	 60

33.	 The reciprocal of 
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7
13  

is:

(1)
	

104
21 	

(2)
 

−104
21

(3)
	

21
104 	

(4) 
−21
104

34.	 The number of vertices in a polyhedron which has 
30 edges and 12 faces is:
(1)	 12	 (2)	 15
(3)	 20	 (4)	 24

35.	 When half of a number is increased by 15, the result 
is 39. The sum of digits of the original number is:
(1)	 6	 (2)	 7
(3)	 9	 (4)	 12

36.	 In DPQT, PQ = PT. The points R and S are on QT 
such that PR = PS. If ∠PTS = 62° and ∠RPS = 34°, 
then measure of ∠QPR is:
(1)	 11°	 (2)	 13°
(3)	 15°	 (4)	 17°

37.	 If for DABC and DDEF, the correspondence CAB ↔ 
EDF gives a congruence, then which of the following 
is not true ? 
(1)	 AC = DE	 (2)	 AB = EF
(3)	 ∠A = ∠D	 (4)	 ∠B = ∠F

38.	 40% of (100 – 20% of 300) is equal to:
(1)	 16	 (2)	 20
(3)	 64	 (4)	 140

39.	 HCF of two numbers is 28 and their LCM is 336. If 
one number is 112, then the other number is:
(1)	 56	 (2)	 70
(3)	 84	 (4)	 98

40.	 If
 

2
3

0 6x = .
 
and 0.02 y = 1, then the value of x + y–1 

is :
(1)	 0.92	 (2)	 1.1
(3)	 49.1	 (4)	 50.9
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42.	 A square and a circle have equal perimeters. The 
ratio of the area of the square to the area of the circle 
is:
(1)	 1 : 1	 (2)	 1 : 4
(3)	 p : 2	 (4)	 p : 4

43.	 ABCD is a square with AB = (x + 16) cm and BC = 
(3x) cm. The perimeter (in cm) of the square is:
(1)	 16	 (2)	 24
(3)	 32	 (4)	 96

44.	 The mean of 10 numbers is 0. If 72 and –12 are 
included in these numbers, the new mean will be:
(1)	 0	 (2)	 5
(3)	 6	 (4)	 60

45.	 The circumference of the base of a right circular 
cylinder is 44 cm and its height is 15 cm. The volume 

(in cm3) of the cylinder is
 

use  = �
22
7

�
�
�

�
�
� :

(1)	 770	 (2)	 1155
(3)	 1540	 (4)	 2310

46.	 A class VII teacher wants to discuss the following 
problem in the class:

	 “A square is divided into four congruent rectangles. 
The perimeter of each rectangle is 40 units. What is 
the perimeter of given square?”

	 Key Mathematical concepts required to solve this 
problem is:
(1)	 Area of square and rectangle, perimeter of 

square and rectangle and definition of square 
and rectangle

	(2)	 Meaning of the terms square, rectangle, 
congruent, perimeter, etc.

(3)	 Area of rectangle, perimeter of square
(4)	 Formation of algebraic equation to solve the 

problem
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47.	 Algebra is introduced in the middle classes. According 

to Piaget‘s theory of cognitive development, it is 
appropriate to introduce algebra at this stage as:
(1)	 the child is at sensorimotor stage and 

can understand with the help of lots of 
manipulatives.	

(2)	 the child is at pre-operational stage and can 
understand abstract concepts

(3)	 the child is at concrete-operational stage and 
he can understand and conceptualize concrete 
experiences by creating logical structure.	

(4)	 the child is at formal operational stage and is 
fully mature to grasp the abstract concepts.

48.	 Mr. Sharma was assessing the students‘ work on 
exponents. One of the response sheet was as follows:
(a)	 23 × 25 = 28	 (b)	 32 × 42 = (12)4

(c)	 33 ÷ 35 = 3–2	 (d)	720 ÷ 714 = 76	

(e)	 93 ÷ 186 =
1
2

3
�
�
�

�
�
�

	 On the basis of this response sheet Mr. Sharma can 
make the following observation:
(1)	 Child has understood the laws of exponents and 

can apply them well.
(2)	 Child has understood the laws of exponents but 

has made clerical errors.
(3)	 Child has understood the laws of exponents 

but has not practised the questions involving 
division of two numbers.

(4)	 Child has understood the law of exponents 
for the cases where the base is same and has 
missed the concept for the case where the base 
is different.

49.	 According to Van Hiele level of Geometric thought 
the five levels of geometric understanding are 
visualization, analysis, informal deduction, formal 
deduction and rigour. Students of class VII are 
asked to classify the quadrilaterals according to their 
properties. These students are at..............level of Van 
Hiele Geometrical thought.
(1)	 Visualization	 (2)	 Analysis
(3)	 Informal Deduction	 (4)	 Formal Deduction

50.	 A task assigned to the class VIII student is as follows:
	 An open box is to be made out of metallic sheet of 50 

cm × 65 cm. Length and breadth of the box is 30 cm 
and 15 cm respectively. What is the possible height 
of the box ? Also find the volume of this box.

	 This task refer to
(1)	 lower level cognitive demand as it requires the 

knowledge of formulae of volume of cuboid.	
(2)	 lower level of cognitive demand as there is no 

connection between concepts involved and 
procedure required.

(3)	 higher level of cognitive demand as the 
problem can be solved by making diagrams and 
connections between many possible situations.

(4)	 higher level of cognitive demand as it requires 
the use of conceptual understanding that 
underline the procedure to complete the task.

51.	 Mr. Nadeem gave the following task to his class after 
completing the topic lines and angles:

	 Speak for 2 minutes on the following figures using 
your knowledge about lines and angles:

	
	 This task is :

(1)	 Reflective in nature, can be used to pass time
(2)	 Exploratory in nature, can be used for summative 

assessments.
(3)	 Reflective as well can be used for formative 

assessment.	
(4)	 Communicating and can encourage 

Mathematical Talk in the classroom during free 
time.

52.	 A child of class VII defines the rectangle as follows:
	 “Rectangle is a quadrilateral whose opposite sides 

are parallel and equal.”
	 The definition reflects that the child

(1)	 cannot recognize the shape	
(2)	 do not know the correct properties of the shape
(3)	 knows the properties of the shape, but repeated 

some properties in definition	
(4)	 knows some properties but missed some 

important to complete the definition.
53.	 A very common error observed in addition of linear 

expression is 5y + 3 = 8y.
	 This type of error is termed as

(1)	 Clerical error	 (2)	 Conceptual error
(3)	 Procedural error	 (4)	 Careless error

54.	 Read the following question from the class VI text-
book:

	 “Prabal deposited ` 5,000 in a bank at the rate of 5% 
interest per annum. After 2 year he withdrew the 
money to purchase the study table for ` 3,500. He 
deposited the money left with him again at the rate 
of 5% interest per annum for another two years. 
How much amount will be receive after two years ?”

	 What values can be inculcated in students through 
this question?
(1)	 Honesty	
(2)	 Habit of saving money and spending it 

wisely	
(3)	 Sincerity	
(4)	 Simplicity and helping others

55.	 Following is a problem from text-book of class VI:
	 “Express the following statement through linear 

expression:
	 Neha has 7 more toffees than  Megha. If Megha has 

x toffees, how many toffees does Neha have?”
	 This problem is based on:

(1)	 Knowledge	 (2)	 Comprehension
(3)	 Analysis	 (4)	 Synthesis

56.	 If p = 32000 + 3–2000 and q = 32000 – 3–2000, then the 
value of p2 – q2 is:
(1)	 1	 (2)	 2
(3)	 3	 (4)	 4
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57.	 The square of 9 is divided by the cube root of 125. 

The remainder is:
(1)	 1	 (2)	 2
(3)	 3	 (4)	 4

58.	 The value of
 16 8 4  

is:

(1)	 16	 (2)	 8
(3)	 8 23

	 (4)	 16 2

59.	 One-half 1.2 × 1030 is:
(1)	 6.0 × 1030	 (2)	 6.0 × 1029

(3)	 6.0 × 530	 (4)	 1.2 × 1015

60.	 If 
2
3

23
30

9
10

11
15

4
5

, , ,  and 
 

are written in ascending
 

order, then the fraction in the middle most will be:

(1)	
23
30 	

(2)
	

4
5

(3)
	

2
3 	

(4)
	

11
15

61.	 The steps required for the conversion of kitchen 
garbage into manure are given below in a jumbled 
form.
A.	 Put the garbage in the pit.
B.	 Cover the bottom of the pit with sand.
C.	 Cover the pit loosely with grass or a gunny bag.
D.	 Add worms.

	 The correct sequence of these steps is:
(1)	 B, A, C, D	 (2)	 B, C, A, D
(3)	 B, A, D, C	 (4)	 B, D, A, C

62.	 Two organisms are best friends and live together. 
One provides shelter, water and nutrients while 
the other prepares and provides food. Such an 
association of organisms is termed as:
(1)	 Autotrophy	 (2)	 Parasitism
(3)	 Heterotrophy	 (4)	 Symbiosis

63.	 In the alimentary canal the swallowed food moves 
downwards because of:
(1)	 the contraction of muscles in the wall of food 

pipe.
(2)	 the flow of fluid material taken with the food.
(3)	 gravitational pull.
(4)	 force provided by the muscular tongue.

64.	 Frogs and earthworm breathe through their skin 
because of which the skin of both the organism is:
(1)	 dry and rough	 (2)	 dry and slimy
(3)	 moist and rough	 (4)	 moist and slimy

65.	 While going for a picnic a student noted the reading 
on the odometer on the bus after every 10 minutes 
till the end of the journey. Later on he recorded the 
reading in a table shown below:

Time 
(AM)

Odometer reading 
(km)

8.00 78752

8.10 78758

8.20 78768

8.30 78780

8.40 78791

8.50 78800

9.00 78806

	 The average speed of the bus in the entire journey 
in metres per second was:
(1)	 15	 (2)	 18
(3)	 30	 (4)	 54

66.	 You are provided with a concave mirror, a concave 
lens, a convex mirror and a convex lens. To obtain an 
enlarged image of an object you can use either:
(1)	 concave lens or convex lens
(2)	 concave mirror or convex mirror
(3)	 concave mirror or concave mirror
(4)	 concave mirror or convex lens

67.	 Select from the following a set of Kharif Crops:
(1)	 Cotton, paddy, pea, linseed
(2)	 Paddy, maize, cotton, soyabean
(3)	 Gram, mustard, groundnut, wheat
(4)	 Maize, paddy, linseed, soyabean

68.	 Study the following statements about the effects of 
weeds on the crop plants:
(A)	They help crop plants to grow healthily.
(B)	They interfere in harvesting.
(C)	They affect plant growth.
(D)	They compete with crop plants for water, 

nutrients, space and light.
The correct statements are:
(1)	 C and D only	 (2)	 D only
(3)	 B, C and D	 (4)	 A, B and D

69.	 When we add aluminium foil to freshly prepared 
sodium hydroxide solution a gas is produced. Which 
of the following correctly states the property of this 
gas?
(1)	 Colourless and odourless gas which extinguishes 

a burning match stick.
(2)	 Colourless and odourless gas which promotes 

burning of a candle.
(3)	 Brown coloured pungent smelling gas.
(4)	 Colourless and odourless gas which produces 

a ‘pop‘ sound when a burning match stick is 
brought near it.

70.	 Aqueous solution of which of the following oxides 
will change the colour of blue litmus to red?
(1)	 Copper oxide	 (2)	 Iron oxide
(3)	 Magnesium oxide	 (4)	 Sulphur dioxide

71.	 Which of the following is a pair of exhaustible 
natural resources?
(1)	 Coal and soil
(2)	 Petroleum and water
(3)	 Minerals and wildlife
(4)	 Natural gas and sun-light

72.	 Which of the following statement is true about 
endemic species?
(1)	 They are not affected by the destruction of their 

habitat.
(2)	 They are found only in zoos and botonical 

gardens.
(3)	 They are found exclusively in specific habitat.
(4)	 Endemic species can never become endangered.

73.	 Which of the following pairs is related to the 
inheritance of characters?
(1)	 Chromosomes and genes
(2)	 Chromosomes and mitochondria
(3)	 Cell membrane and cell wall
(4)	 Cell membrane and chloroplast
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74.	 Out of the different combination of terms given 

below, the correct combination of terms with 
reference to an animal cell is:
(1)	 Nucleus, plastid, cell membrane, cell wall
(2)	 Nucleus, chromosome, ribosome, cell wall
(3)	 Cell membrane, chromosome, ribosome, 

mitochondria
(4)	 Cell membrane, ribosome, chloroplast, 

mitochondria
75.	 Consider the following sets of reproductive terms.

(A)	Sperm, oviduct, egg, uterus
(B)	Ovulation, egg, oviduct, uterus
(C)	Sperm, testis, spermduct, penis
(D)	Menstruation, egg, oviduct, uterus
The sets of correct combination are:
(1)	 A, B and C	 (2)	 B, C and D
(3)	 C, D and A	 (4)	 A, B and D

76.	 Which of the following element must be available in 
water for the metamorphosis of tadpoles?
(1)	 Chlorine	 (2)	 Bromine
(3)	 Sulphur	 (4)	 Iodine

77.	 Which one of the following is not the objective of 
teaching of science at upper primary stage?
(1)	 Developing questioning and enquiring skills.
(2)	 Acquiring technological skills.
(3)	 Acquiring process skills.
(4)	 Acquiring scientific literacy.

78.	 National Curriculum Framework (NCF) strongly 
recommends that Science education at upper 
primary stage should:
(1)	 prepare students for competitive examinations
(2)	 help students to be emotionally balanced
(3)	 help students to acquire computational skills
(4)	 follow constructivistic approach for teaching and 

learning of the subject
79.	 ‘Cognitive validity‘ of Science curriculum at upper 

primary stage requires that it should:
(1)	 be age appropriate and within the reach of 

students’ understanding level
(2)	 convey scientifically correct content
(3)	 nurture the natural curiosity and creativity of the 

learners
(4)	 enable the students to appreciate how the 

concepts of Science evolve with time
80.	 Which one of the following does not reflect the 

personality attribute of a person having scientific 
temper?
(1)	 Seeking evidence	 (2)	 Biased opinion
(3)	 Rational thinking	 (4)	 Openmindedness

81.	 NCERT Science textbooks for upper primary classes 
include large number of daily life related questions 
which have been left unanswered. This has been 
done so that:
(1)	 teachers have a good pool of questions for 

assessment purpose
(2)	 students can send these questions to scientists to 

get the answer
(3)	 teachers can use these questions for home 

assignment
(4)	 students can seek answer to these questions by 

exploring different resources

82.	 While teaching the correct method of reading a 
clinical thermometer to class VIII students, Neha 
mentions the following necessary precautions to be 
taken:
(1)	 Thermometer should be washed with hot water 

before and after use.
(2)	 Do not hold the thermometer by the bulb while 

taking the reading.
(3)	 Ensure that before use, the mercury level in the 

thermometer is below 35°C.
(4)	 Read the thermometer keeping the level of 

mercury along the line of sight.
	 Which one of the above precautions has been 

mentioned wrongly by the teacher?
83.	 The section on ‘activities and projects‘ included in 

the exercises of NCERT Science textbooks for class 
VIII primarily aims at:
(1)	 enhancing indepth understanding of the basic 

concepts
(2)	 keeping the students engaged during vacations
(3)	 assessing the students on practical skills
(4)	 providing opportunity to students for extended 

learning
84.	 Major objective of organisation of Science Exhibitions 

is to:
(1)	 grade students on practical skills
(2)	 provide opportunity to students to compete with 

others
(3)	 provide opportunity to students to showcase 

their creative ideas
(4)	 provide opportunity to students to enhance their 

academic performance
85.	 Four candidates appearing in an interview for 

the post of science teacher were asked to give a 
demonstration lesson to class VIII students on 
the topic ‘Pressure exerted by liquids and gases‘. 
Following different approaches were followed by 
different candidates:
(1)	 Detailed explanation of related concepts with the 

help of diagram on the blackboard.
(2)	 Use of charts for explanation of different 

concepts.
(3)	 Organisation of hands-on student activities 

followed up with discussions.
(4)	 Greater focus on classroom questions during the 

lecture.
	 Which one of the above approaches will be most 

effective for teaching of the topic?
86.	 The technique of ‘classroom questioning‘ in teaching 

of Science can be more effectively used for:
(1)	 ensuring levels of learning
(2)	 developing problem solving skills
(3)	 maintaining discipline in the class
(4)	 promoting creativity and innovativeness

87.	 Given below are the steps to test the presence of 
proteins in a food item. These steps are not in correct 
sequence.
(A)	Take a small quantity of food item in a test tube, 

add 10 drops of water to it and shake it.
(B)	Make the paste or powder of the food to be 

tested.
(C)	Add 10 drops of caustic soda solution to the test 

tube and shake well.
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(D)	Add 2 drops of copper sulphate to it.
The correct sequence of these steps is:
(1)	 A, B, D, C	 (2)	 B, A, D, C
(3)	 B, A C, D	 (4)	 D, B, A, C

88.	 Which of the following terms constitute the female 
part of a flower?
(1)	 Stigma, ovary and stamen
(2)	 Stigma, ovary and style
(3)	 Stamen, ovary and style
(4)	 Stamen, petals and sepals

89.	 How many muscles work together to move a bone?
(1)	 Two	 (2)	 Four
(3)	 Six	 (4)	 Number is not fixed

90.	 Choose the set that represents only the biotic 
component of a habitat.
(1)	 Sand, turtle, crab, rocks
(2)	 Insects, frog, fish, aquatic plants
(3)	 Tiger, deer, grass, soil
(4)	 Insects, water, aquatic, plants, fish

Language: English
Directions: Read the given passage and answer the questions 
that follow (Q. Nos. 91 to 99) by selecting the most appropriate 
option:

Renowned educationalist Sir Tim. Brighouse, observed 
that an outstanding school has four factors that are visible. 
“Teachers talk about teaching, teachers observe each other’s 
practice, teachers plan, organize and evaluate their work 
together rather than separately, and that teachers teach each 
other.”
He continues: “One of the reasons I like that is that you can 
immediately see ways in which you could make it more 
likely that teachers talk about teaching.”
Sir Tim then encouraged schools to focus on activities 
that were low effort but high impact, describing them as 
“butterflies”. Some examples he gave included rotating staff 
meetings around different classrooms with the host, at the 
start, describing the room layout and displays, or discussing 
other teaching techniques and approaches. With modem 
technology teachers could observe their own lessons and 
then when viewing them back, decide whether they want 
to share them with a mentor.
The role of mentoring was vital and suggested that more 
schools could send teachers out in small groups to learn 
from colleagues in other schools.
He said “If this were widespread practice, if people were to 
attend to their butterflies, the outcome in terms of teacher 
morale and teacher satisfaction would be positive. We all 
agree that professional development is the vital ingredient”.

91.	 In the mode suggested by Sir Tim, teachers may self-
evaluate and self- reflect
(1)	 using technology	
(2)	 without technology
(3)	 through a students’ survey	
(4)	 interviewing each other

92.	 “Teachers talk about teaching’ means that they
(1)	 make some suggestions
(2)	 discuss their own practices
(3)	 criticize one another
(4)	 freely change opinions

93.	 ‘Low effort but high impact’ in this context implies 
that schools
(1)	 pay teachers a lower salary
(2)	 extract more work for the same pay
(3)	 decrease the work load and salary 
(4)	 create opportunities within the system for 

development

94.	 In this extract, it is observed that technology supports 
teachers to
(1)	 improve students
(2)	 conduct meetings for teachers
(3)	 follow-up/remediation activities for students.
(4)	 self-diagnose their practices

95.	 Here, ‘visible’ means
(1)	 seen	 (2)	 obvious
(3)	 appealing	 (4)	 bright

96.	 Rotating staff meetings in the class rooms’ permits 
teachers to
(1)	 be informal with each other
(2)	 miss some of them
(3)	 share their own practices with others
(4)	 keep busy all the time

97.	 A synonym for the word, ‘counselling”, from the 
passage is
(1)	 describing	 (2)	 mentoring
(3)	 discussing 	 (4)	 teaching

98.	 The talk by Sir Tim is about the 
(1)	 teachers who dress like butterflies. 
(2)	 visiting schools to socialise. 
(3)	 knowledge teachers gain for job growth.
(4)	 schools who control their teachers.

99.	 “Butterflies” here refer to
(1)	 the dress code	
(2)	 a practice of staff interaction
(3)	 changing schools
(4)	 going to classes in rotation

Directions: Read the given poem and answer the questions that 
follow (Q. Nos. 100 to 105) by selecting the most appropriate 
option:

As I Watch You Grow
Do you know how much you mean to me?
As you grow into what you will be.
You came from within, from just beneath my heart
It’s there you’ll always be though your own life will now 
start.
You’re growing so fast it sends me a whirl,
With misty eyes 1 ask, Where’s my little girl?”
I know sometimes to you I seem harsh and so unfair,
But one day you will see, I taught you we’ll because I care.
The next few years will so quickly fly
With laughter and joy, mixed with a few tears to cry.
As you begin your growth to womanhood, this fact you 
must know,
You’ll always be my source of pride, no matter where you go.
You must stand up tall and proud, within you feel no fear,
For all you dreams and goals, sit before you very near.
With God’s love in your heart and the world by its tail,
You’ll always be my winner, and victory will prevail.
For you this poem was written, with help from above,
To tell you in a rhythm of your Mother’s
heartfelt love!

Kay Theese

100.	‘Do you know how much you mean to me?” is a 
___________ question.
(1)	 rhetorical	 (2)	 restrictive
(3)	 convergent	 (4)	 divergent

101.	An antonym for the word ‘harsh’ is
(1)	 severe	 (3)	 grim
(2)	 mild	 (4)	 clashing

102.	In the expression ‘It sends me a whirl’, ‘it’ refers to
(1)	 travelling far	 (2)	 growing up
(3)	 new experiences 	 (4)	 the real world
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103.	To ‘stand up tall’ is

(1)	 growing up healthy	 (2)	 be tall like the boys
(3)	 being fearless	 (4)	 getting ambitious

104.	The phrase ‘the world by its tail means to
(1)	 be a good follower	 (2)	 overcome challenges
(3)	 face one’s enemies	 (4)	 to avoid challenges

105.	The poem addresses a
(1)	 friend	 (2)	 daughter
(3)	 mother	 (4)	 girl

Directions: Answer the following questions by selecting the 
most appropriate option:
106.	A person sitting behind you in a cinema starts talking 

on the mobile phone and you want to tell him/her to 
stop. Choose how you will make the request.
(1)	 “Stop talking so loudly!”
(2)	 “Please don’t use the mobile phone inside the 

theatre.”
(3)	 “Can’t you not use the mobile phone, please?”
(4)	 “Could you possibly stop using the mobile phone 

here?”
107.	Exemplar for homonym would be

(1)	 aisle/isle	 (2)	 beer/bear
(3)	 stale/stall	 (4)	 stock/stoke

108.	Which is a lexical word?
(1)	 love	 (2)	 is
(3)	 the	 (4)	 might

109.	While learning about the passive voice form, 
students learn about
(1)	 use of “by”	 (2)	 position of verbs
(3)	 position of nouns.	 (4)	 use of verb form

110.	Students can leave the school premises at 12.30pm.
	 Students ought to leave the school premises at 12.30pm.
	 The two given statements can be differentiated by 

drawing students’ attention to the
(1)	 differences in the arrangement of words
(2)	 meaning conveyed by the modals/verb modifiers
(3)	 the roles of the subject and object in both 

sentences
(4)	 absence of change in the verb form

111.	Which learning domain constitutes higher order 
thinking?
(1)	 remembering	 (2)	 understanding
(3)	 application	 (4)	 evaluation

112.	The process of word formation consists of
(1)	 compounding and affixes
(2)	 opposites and meaning
(3)	 verbs and nouns
(4)	 using synonyms or euphemisms

113.	When reading, to ‘decode’ means to 
(1)	 an action used in ICT
(2)	 solving a complex puzzle
(3)	 to analyse and understand
(4)	 understanding a foreign language

114.	Speaker 1: We had an enjoyable holiday this winter.
	 Speaker 2: Where did you go?
	 Speaker 1: Where?
	 Speaker 2: Yes, which place did you visit?
	 During the assessment of students’ speaking-

listening skills, mark/s would be deducted during 
this exchange for
(1)	 Speaker 1 	 (2)	 Speaker II 
(3)	 Both	 (4)	 Neither

115.	While writing, ‘ellipses’ is a 
(1)	 phrasal verbs 	 (2)	 semantic linker
(3)	 adjectival form	 (4)	 prepositional phrase

116.	If a longer piece of writing is brief, complete, in the 
third person, without digressions and emotional 
overtones and logically arranged, it is a
(1)	 classified advertisement
(2)	 memorandum
(3)	 report
(4)	 newspaper article

117.	The politician had been making promises long before 
election time. The statement is in the _________ tense. 
(1)	 past continuous	
(2)	 present perfect
(3)	 present perfect continuous
(4)	 past perfect continuous

118.	‘Gender sensitization’ in the school curriculum 
implies
(1)	 children should be differentiated as boys and girls
(2)	 sex education from primary school onwards
(3)	 respectful approach towards defining gender 

roles
(4)	 promote co-education in high school.

119.	 Identify where the collective form is an error: 
(1)	 host of angels	 (2)	 congress of baboons
(3)	 clutch of duress	 (4)	 shoal of fish

120.	An exemplar of a question to ‘funnel’ or restrict a 
respondent’s answer is 
(1)	 “What do you think of the weather?”
(2)	 “How many books are there?” 
(3)	 “Tell me about your most recent holiday.”
(4)	 “What are your goals?”

Language: Hindi

funsZ'k (121-129): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi pqfu,µ

fdls dgw¡ eSa\ D;k gS f'k{kk dk lp\ dSlk gS f'kf{kr O;fDr vkSj dSlk 
gksrk gS i<+k&fy[kk lekt\ esjs xq# Jh n;kypUæ th lksuh rks iwjh 
,d dkO;kRed iqLrd fy[k x;sA bl iqLrd dk uke gS ^gw¡ v.kHkf.k;ksa 
f'kf{kr gw¡*A mudk vk'k; Li"V gS fd gj i<+k&fy[kk vkneh vui<+ gSA 
mUgksaus tc rd iqLrd fy[kh rks lkQ dgk fd ;g fdrkc muds iwjs 
thou dh f'k{kk dk lkj gSA rc fQj gesa ;g Hkh eku ysuk pkfg, fd 
gekjk iwjk i<+k&fy[kk lekt [kklk vui<+ gSA vf'kf{kr gSA rc fQj 
crkb, fd f'k{kk dks dgk¡ [kkstsaA
dgrs gSa fd f'k{kk ckyd ds tUe ds lkFk ckyd dks feyh çfrHkk dk 
fodkl gSA mldh lks;h gqbZ 'kfDr;ksa dks txkus dk uke f'k{kk gSA exj 
,slk rks rc lEHko gS tc ge ;g tku ysa fd dkSu&dkSu&lk ckyd 
dkSu&dkSu lh çfrHkk ds lkFk iSnk gqvk gS\ mlds 'kjhj esa ,oa mlds 
eu&efLr"d esa dkSu&dkSu&lh 'kfDr;k¡ lks;h gqbZ gSa\ bldk vFkZ ;g 
gqvk fd tks&tks ckyd 'kkyk esa vk;k gS mldks ge igys i<+saA gj ckyd 
dks i<+&i<+ dj igpkusa fd og D;k gS\ mldh çfrHkk D;k gS\ vkSj 
dkSu&dkSu&lh lq"kqIr 'kfDr;ksa dks fy;s gq, gekjs lkeus mifLFkr gqvk gSA
121.	^f'k{kk* dk vFkZ gSµ

(1)	 cPpksa dks tkudkjh nsukA
(2)	 cPpksa dks dsoy v{kj Kku nsukA
(3)	 cPpksa dks 'kfDr'kkyh cukukA
(4)	 cPpksa esa fo|eku 'kfDr;ksa dks çLQqfVr djukA
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122.	ys[kd ds vuqlkj
(1)	 lHkh cPps leku :i ls çfrHkk'kkyh gksrs gSaA
(2)	 cPpksa esa vyx&vyx çfrHkk gksrh gSA
(3)	 lHkh cPps 'kkyk tkdj çfrHkk'kkyh cu tkrs gSaA
(4)	 lHkh cPpksa dh 'kfDr;k¡ lq"kqIr voLFkk esa gh jgrh gSaA

123.	cPpksa dks f'k{kk nsus ds fy, lcls igys D;k t:jh gS\
(1)	 çfeHkkvksa ds fofHkUu :i tkuukA
(2)	 cPpksa dks çfeHkkvksa ds vuqlkj oxhZÏr djukA
(3)	 cPpksa dh leLr {kerkvksa] çfrHkkvksa dks tkuus ds fy, mUgsa 

i<+ukA
(4)	 cPpksa dks i<+kukA

124.	bl x|ka'k esa f'k{kk dk dkSu&lk fl¼kar fufgr gS\
(1)	 lHkh cPps leku :i ls çfeHkk'kkyh gksrs gSaA
(2)	 lHkh cPpksa esa oS;fDrd fHkUurk gksrh gSA
(3)	 'kfDr;k¡ lnSo lq"kqIr voLFkk esa gh jgrk gSaA
(4)	 i<+s&fy[ks yksx vui<+ gksrs gSaA

125.	^gj ckyd dks i<+&i<+ dj igpkusa fd og D;k gS\* okD; esa 
^igpkusa* fØ;k dk dÙkkZ gks ldrk gSµ
(1)	 eSa	 (2)	 ge
(3)	 rqe	 (4)	 og

126.	^mldh çnÙk çfrHkk D;k gS\* okD; gSµ
(1)	 fo/kkuokpd	 (2)	 udkjkRed
(3)	 ç'uokpd	 (4)	 lansgokpd

127.	^'kjhj* esa ^bd* çR;; yxus ij 'kCn cusxkµ
(1)	 'kjhfjd	 (2)	 'kkjhjhd
(3)	 'kkjhfjd	 (4)	 'kkfjfjd

128.	ys[kd ds vuqlkj f'kf{kr gksuk vkSj lk{kj gksukµ
(1)	 nksuksa leku gSaA
(2)	 nksuksa esa ewyHkwr varj gksrk gSA
(3)	 nksuksa i;kZ;okph gSaA
(4)	 nksuksa esa FkksM+k&cgqr varj gSA

129.	;gk¡ ^i<+k&fy[kk* gksus ls rkRi;Z gSµ
(1)	 f'kf{kr gksuk	 (2)	 vf'kf{kr gksuk
(3)	 lk{kj gksuk	 (4)	 fuj{kj gksuk

funsZ'k (130-135): uhps nh xbZ iafDr;ksa dks i<+dj lcls mfpr fodYi 
dk p;u dhft,µ

nEHk dk tgk¡&tgk¡ iM+ko Fkk]
lR; ls tgk¡&tgk¡ nqjko Fkk]
og pyk fd vfXu&ck.k ekjrk]
iki dh vgk&vgk mtkM+rk]
otz cu fxjk fxjs fopkj ij!
130.	^fxjs fopkj* ls rkRi;Z gSµ

(1)	 lHkh çdkj ds fopkj	 (2)	 feF;k fopkj
(3)	 lR; vkSj fgr ls ijs fopkj	 (4)	 my>s fopkj

131.	ukStoku 'kghn us vfXu&ck.k blfy, pyk, D;ksafd ogµ
(1)	 viuk lkezkT; LFkkfir djuk pkgrk FkkA
(2)	 lqjkt LFkkfir djuk pkgrk FkkA
(3)	 ozt fxjkuk pkgrk FkkA
(4)	 viuh 'kfDr dh xfjek cuk, j[kuk pkgrk FkkA

132.	^nqjko* 'kCn ls rkRi;Z gSµ
(1)	 nqxZe LFky	 (2)	 vkoj.k
(3)	 dkfBU;	 (4)	 cSj

133.	^tgk¡&tgk¡* 'kCn gSµ
(1)	 ,dkFkhZ 'kCn&;qXe	 (2)	 iqu#Dr 'kCn&;qXe
(3)	 foijhrkFkZd 'kCn&;qXe	 (4)	 fHkUukFkhZ 'kCn&;qXe

134.	^iki* dk foykse 'kCn gSµ
(1)	 çk;f'pÙk	 (2)	 viki
(3)	 iq.;	 (4)	 fujijk/k

135.	ukStoku 'kghn us fdls u"V fd;k\
(1)	 vgadkj dks	 (2)	 vlR; dks
(3)	 vgadkj vkSj lR; dks	 (4)	 vgadkj vkSj vlR; dks

funsZ'k (136-150): uhps fn, x, ç'uksa ds mÙkj lcls mfpr fodYi 
pqfu,µ

136.	mPp çkFkfed Lrj ij dgkuh] dfork i<+us ds ckn ;g t:jh gS 
fd cPpsµ
(1)	 ç'uksa ds fyf[kr mÙkj ns ldsaA
(2)	 mls vius 'kCnksa esa nksgjk ldsaA
(3)	 foijhr Hkko dh dgkuh ;k dfork fy[k ldsaA
(4)	 mUgsa vius vuqHko lalkj ls tksM+ ldsaA

137.	IysVks dk ;g dFku fd ^cPpk cM+ksa ds chp ,d fons'kh dh rjg 
gksrk gS* fdl Hkkf"kd lPpkbZ dh vksj ladsr djrk gS\
(1)	 cPps viuh Hkk"kk esa cksyrs gSa ftls cM+s lgh&lgh ugha le> 

ikrsA
(2)	 cPpk cM+ksa ls mez esa NksVk gksus ds dkj.k vtuch cuk jgrk gSA
(3)	 cPpksa dh Hkk"kk vifjiDo gksrh gSA
(4)	 cPpksa dh Hkk"kk ds çfr cM+ksa dk n`f"Vdks.k ladh.kZrk ls ifjiw.kZ 

gksrk gSA

138.	^Hkk"kk dh d{kk* esa dgkfu;k¡
(1)	 euksjatu dk lk/ku gSaA
(2)	 ikB~;&iqLrd dk ,d ikB gSaA
(3)	 fofHkUu çdkj dh Hkk"kk;h lajpuk,¡ vkSj fparu&fodkl dh 

laHkkouk,¡ fy, gksrh gSaA
(4)	 Hkk"kk&dkS'ky ds fodkl dk ,dek= lk/ku gSaA

139.	jk"Vªh; ikB~;p;kZ dh :ijs[kk 2005 ds vuqlkj dkSu&lk dFku 
lgh gS\
(1)	 Hkk"kk dsoy Hkk"kk dh d{kk rd lhfer gksuh pkfg,A
(2)	 Hkk"kk&f'k{k.k ,d çdkj ls vU; fo"k;ksa dh d{kkvksa esa Hkh 

ekStwn jgrk gSA
(3)	 cPps fo|ky; vkdj gh Hkk"kk lh[krs gSaA
(4)	 çkFkfed Lrj ij Hkk"kk lh[kus&fl[kkus esa dsoy i<+us ij cy 

nsuk pkfg,A

140.	Hkk"kk&dkS'kyksa ds lanHkZ esa dkSu&lk dFku lgh gS\
(1)	 lquuk] cksyuk] i<+uk vkSj fy[kuk ,d Øe ls lh[ks tkrs gSaA
(2)	 lquuk vkSj i<+uk fuf"Ø; dkS'ky gSaA
(3)	 i<+uk vkSj fy[kuk dkS'ky esa dksbZ laca/k ugha gSA
(4)	 lHkh dkS'ky ,d&nwljs ds lkFk var% lacaf/kr gksrs gSaA

141.	mPp çkFkfed Lrj ij Hkk"kk dh ikB~;&iqLrd esa fofo/k çdkj dh 
lkfgfR;d jpukvksa ds lekos'k dk eq[; mís'; ;g gSµ
(1)	 cPpksa dks lHkh çdkj dh lkfgfR;d fo/kkvksa esa ikjaxr djukA
(2)	 fofHkUu çdkj dh lkfgfR;d fo/kkvksa dh Hkk"kk;h lajpukvksa ls 

ifjfpr gksus dk volj nsukA
(3)	 fofHkUu lkfgfR;d fo/kkvksa ds çfl¼ jpukdkjksa ls ifjfpr 

djkukA
(4)	 ikB~;&iqLrd fuekZ.k dh ijaijk dk fuokZg djukA
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142.	jf'e viuh d{kk dks ckgj eSnku esa ys tkrh gS vkSj i;kZoj.k ij 
vk/kkfjr dfork&ikB dk dk;Z djrh gSA jf'e dk mís'; gSµ
(1)	 cPpksa dks jkstejkZ dh ppkZ ls dqN vyx ekgkSy nsukA
(2)	 cPpksa dks eSnku esa ?kweus dk volj nsukA
(3)	 eSnku ds çkÏfrd okrkoj.k ds lkFk laca/k tksM+rs gq, dfork 

dks le>us dk volj nsukA
(4)	 vius f'k{kd&çf'k{k.k esa lh[kh ckrksa dk fuokZg djukA

143.	Hkk"kk esa vkdyu djus ds ckn egRoiw.kZ lksiku gksuk pkfg,µ
(1)	 vkdyu ls çkIr vk¡dM+ksa ds vk/kkj ij cPpksa ds vfHkHkkodksa 

ls fopkj&foe'kZ djukA
(2)	 vk¡dM+ksa dks lgst dj j[kukA
(3)	 vk¡dM+ksa dks rRdky u"V djukA
(4)	 vk¡dM+ksa dk iqu% iqu% ijh{k.k djukA

144.	fo|ky; esa ,d ls vf/kd Hkk"kkvksa dk f'k{k.kµ
(1)	 tfVy leL;k,¡ mRiUu djrk gSA
(2)	 vusd Hkk"kkvksa ds f'k{kdksa ds jkstxkj dks c<+kok nsrk gSA
(3)	 cgqHkkf"kdrk vkSj jk"Vªh; ln~Hkko dk çlkj djrk gSA
(4)	 O;kogkfjd ugha gSA

145.	Hkk"kk&f'k{k.k dh ^çR;{k&fof/k* esaµ
(1)	 ekr`Hkk"kk dk fujFkZd gLr{ksi gksrk gSA
(2)	 ^Hkk"kk&vtZu* dh LokHkkfod fLFkfr dk fuekZ.k gksrh gSA
(3)	 vfrfjDr f'k{k.k lkexzh dh dksbZ vko';drk ughaA
(4)	 Hkk"kk dh fofo/k lajpukvksa ds ys[ku gsrq vH;kl ij cy 

fn;k tkrk gSA
146.	Hkk"kk esa jpukRed vkdyu dk lokZf/kd csgrj mnkgj.k gSµ

(1)	 cPpksa dks vius [kV~Vs&ehBs vuqHko fy[kus ds fy, dgukA
(2)	 Jqrys[k
(3)	 ç'uksa ds mÙkj fy[kokuk
(4)	 bdkbZ&ijh{kk ysuk

147.	fgUnh Hkk"kk ds ç'u&i= esa vki fdl ç'u dks lokZf/kd mfpr 
ekurs gSa\
(1)	 fo'ks"k.kksa ds fdrus vkSj dkSu&ls Hksn gksrs gSa\
(2)	 çR;;ksa dh ifjHkk"kk fyf[k,A
(3)	 loZuke ds Hksnksa dks mnkgj.k lfgr Li"V dhft,A
(4)	 ys[kd us igkM+ksa ij gksus okyh ckfj'k dk o.kZu ,d vyx 

rjhds ls fd;k gSA vki ckfj'k laca/kh viuk vuqHko fyf[k,A
148.	pkWELdh ds vuqlkj --------- ds dkj.k cPps Hkk"kk lh[krs gSaA

(1)	 Hkk"kk;h lekt
(2)	 Hkk"kk&vtZu {kerk
(3)	 Hkk"kk&vkdyu {kerk
(4)	 O;kdjf.kd fu;eksa dh tkudkjh ls gh

149.	Hkk"kk&f'k{k.k esa vfuok;Z gSµ
(1)	 ekud Hkk"kk ij cy	
(2)	 lexzrkoknh n`f"Vdks.k
(3)	 fo'ks"k vko';drk okys cPpksa ds lkFk fHkUu O;ogkj
(4)	 orZuh laca/kh x`gdk;Z

150.	fo'ks"k vko';drk okys cPpksa dh Hkk"kk dk vkdyu djrs le;
(1)	 mUgsa ç'u&la[;k esa fo'ks"k NwV feyuh pkfg,A
(2)	 mUgsa vf/kd vad nsus dk ç;kl djuk pkfg,A
(3)	 mudh {kerk vkSj lhekvksa dk /;ku j[kuk pkfg,A
(4)	 muds çfr n;k Hkko j[kuk pkfg,A
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	 51.	 (3)	 52.	 (4)	 53.	 (2)	 54.	 (2)	 55.	 (2)
	 56.	 (4)	 57.	 (1)	 58.	 (2)	 59.	 (2)	 60.	 (1)
	 61.	 (3)	 62.	 (4)	 63.	 (1)	 64.	 (4)	 65.	 (1)
	 66.	 (4)	 67.	 (2)	 68.	 (3)	 69.	 (4)	 70.	 (4)
	 71.	 (3)	 72.	 (3)	 73.	 (1)	 74.	 (3)	 75.	 (2)
	 76.	 (4)	 77.	 (2)	 78.	 (4)	 79.	 (1)	 80.	 (2)
	 81.	 (4)	 82.	 (1)	 83.	 (4)	 84.	 (3)	 85.	 (3)
	 86.	 (1)	 87.	 (2)	 88.	 (2)	 89.	 (1)	 90.	 (2)

Language: English

	 91.	 (1)	 92.	 (2)	 93.	 (4)	 94.	 (4)	 95.	 (1)
	 96.	 (3)	 97.	 (2)	 98.	 (3)	 99.	 (2)	 100.	 (4)
	 101.	 (2)	 102.	 (2)	 103.	 (3)	 104.	 (2)	 105.	 (2)
	 106.	 (2)	 107.	 (1)	 108.	 (1)	 109.	 (4)	 110.	 (2)
	 111.	 (4)	 112.	 (1)	 113.	 (3)	 114.	 (1)	 115.	 (2)
	 116.	 (3)	 117.	 (3)	 118.	 (3)	 119.	 (3)	 120.	 (2)

Language: Hindi

	 121.	 (4)	 122.	 (4)	 123.	 (3)	 124.	 (3)	 125.	 (2)
	 126.	 (3)	 127.	 (3)	 128.	 (2)	 129.	 (2)	 130.	 (3)
	 131.	 (2)	 132.	 (4)	 133.	 (2)	 134.	 (3)	 135.	 (4)
	 136.	 (4)	 137.	 (1)	 138.	 (3)	 139.	 (2)	 140.	 (4)
	 141.	 (2)	 142.	 (3)	 143.	 (1)	 144.	 (3)	 145.	 (2)
	 146.	 (1)	 147.	 (4)	 148.	 (2)	 149.	 (2)	 150.	 (3)
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1.	 Option (1) is correct. 
Explanation: Multiple intelligence 
theory relates to the differentiation 
of human intelligence. Different 
students learn in different ways. This 
theory is criticized on many grounds. 
One of the criticism is that multiple 
intelligence are only talents present 
in intelligence as whole. Humans 
do not have just an intellectual 
capacity. They have other kinds of 
intelligences, such as interpersonal, 
spatial-visual, linguistic intelligences.                        

2.	 Option (4) is correct. 
Explanation: Language is not a 
stimuli in environment. When the 
child realizes the communicative 
value of words and phrases, rewards 
are being received by child. He/she 
is born with inborn ability to learn 
language.  

3.	 Option (3) is correct. 
Explanation: Gender stereotypes are 
features assigned due to social roles 
and not due to biological endowment. 
These stereotypes are beliefs and 
expectations about how individuals 
should behave, think, or feel based 
on their gender.
Gender stereotyping occurs when 
people behave in a certain way as per 
their gender. For example, women 
are supposed to be obedient and 
men are supposed to be dominative. 

4.	 Option (1) is correct. 
Explanation:  To maximize learning, it 
is essential for teachers to understand 
not only their own cognitive style 
but also the cognitive styles of 
their students. When teachers are 
aware of the diverse ways students 
learn and process information, they 
can adapt their teaching methods 
accordingly. This approach, known 
as differentiated instruction, allows 
teachers to cater to individual learn-
ing preferences, strengths, and 
needs, creating a more inclusive 
and effective learning environment. 
By considering students' cognitive 
styles, teachers can optimize learning 
outcomes and ensure that all students 
have the opportunity to succeed and 
reach their full potential.

5.	 Option (4) is correct. 
Explanation: Assessment as learning 
is an approach to assessment that 
focuses on helping students learn 

and improve. It involves providing 
students with feedback on their 
progress, and helping them to 
identify and address their learning 
needs.
Testing students as frequently as 
possible is not a good way to promote 
assessment as learning. In fact, it 
can actually be counterproductive. 
Frequent testing can lead to students 
becoming anxious and stressed, and 
it can discourage them from taking 
risks.

6.	 Option (2) is correct.
Explanation: When a cook tastes 
a food during cooking, it is akin to 
"Assessment for learning."
Assessment for learning, also known 
as formative assessment, refers to the 
process of gathering information and 
feedback during the learning process 
to monitor students' progress and 
provide ongoing support for their 
learning. Similarly, when a cook 
tastes the food while cooking, they 
are evaluating the dish's progress 
and making necessary adjustments 
based on their assessment to ensure 
the final product meets the desired 
taste and quality.

7.	 Option (2) is correct.
Explanation: Differentiated 
instruction is related to different 
instruction to different students in 
class. This helps all of the students 
in the classroom. Students differ 
according to culture, gender, ability, 
learning styles etc. A bunch of 
different methods of learning can be 
used to teach students.

8.	 Option (3) is correct.
Explanation: In a culturally and 
linguistically diverse classroom, 
before deciding whether a student 
comes under the special education 
category, a teacher should involve 
specialized psychologists. Specialized 
psychologists have the expertise and 
training to conduct comprehensive 
assessments and evaluations to 
determine if a student has a disability 
or any specific learning needs.

9.	 Option (1) is correct.
Explanation: Alcohol, Mental issues 
and brain related disorders may 
affect the learning ability of an 
individual. These all factors can lead 
to damaging impacts on the child. 
Therefore, teacher’s way of teaching 
cannot affect the learning abilities of 
a student.

10.	 Option (3) is correct.
Explanation: Inclusive education 
is related to full participation of 
learners. It implies that all students 
should have equal opportunities 
for education and learning. Teacher 
uses ways of learning by increasing 
the scope of heterogeneity in the 
classroom.

11.	 Option (2) is correct.
Explanation: Divergent thinkers 
generates creative ideas and form 
logical solutions to a problem. Gifted 
students have divergent thinking and 
ability to view things in a different 
manner.

12.	 Option (3) is correct.
Explanation: The empirical rule, a 
three sigma rule, tests a distribution 
normality and serves as a means of 
forecasting dataset. As per the shaded 
region, the child is highly intelligent, 
motivated and creative. Therefore, he 
will fall after 3 sigmas.

13.	 Option (4) is correct.
Explanation: When activities are 
done in real life, learning process 
becomes fast. This helps in holistic 
development of the students and 
growth of knowledge and skills faster.

14.	 Option (1) is correct.
Explanation: By group activities, the 
burden of individual competition is 
eliminated and thus leads to good 
emotional and mental health of the 
students.

15.	 Option (3) is correct.
Explanation: As per Albert Bandura, 
learning process takes place by 
observing others. This is the concept 
of social learning.

16.	 Option (3) is correct.
Explanation: Social learning proposes 
that new behaviors are formed by 
observing and imitating others. 
People learn from each other through 
observation, imitation and modeling.
In this scenario, the child is engaging 
in social learning by observing and 
imitating the models in the fashion 
show.

17.	 Option (1) is correct.
Explanation: If the student is making 
errors continuously, firstly teacher 
should try to change the instructional 
methods. After that, other aspects can 
be checked like time table, seating 
arrangements etc.

18.	 Option (2) is correct.
Explanation: Anxiety leads to feeling 
of fear and uneasiness. Many students 
fear exams. This fear can be managed 
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by many ways such as familiarizing 
with pattern of paper, support from 
teachers, and knowing the strengths.

19.	 Option (4) is correct.
Explanation: Bloom's taxonomy is a 
hierarchical organization of cognitive 
objectives, which focus on intellectual 
or mental skills that students should 
develop as part of their education. 
The cognitive domain of Bloom's 
taxonomy consists of six levels, 
each representing different levels 
of cognitive complexity. These 
levels include remembering, under-
standing, applying, analyzing, 
evalua-ting, and creating. At the 
lower levels, students are expected to 
recall and comprehend information, 
while at the higher levels, they 
engage in critical thinking, problem-
solving, and creative processes. 
Bloom's taxonomy provides a 
valuable framework for designing 
educational objectives, lesson plans, 
and assessments that promote 
progressive cognitive development 
in students.

20.	 Option (1) is correct.
Explanation: Mastery goal 
means accomplishing something. 
Performance approach goals are those 
in which someone tries to do better 
than his/her peers. Performance 
avoidance goals are those goals 
when someone tries to avoid doing 
worse than his/her peers.
In the given scenario, A has mastery 
goals because she is interested in 
learning English and thinks it will 
be helpful for her in the future. B 
has performance goals because she 
wants to secure first rank in the class. 
C has performance avoidance goals 
because she is primarily concerned 
with securing passing grades.

21.	 Option (2) is correct.
Explanation: Self-actualization 
needs are the highest level needs in 
psychological development. A person 
potential is fully realized when basic 
and ego needs have been fulfilled. 
Captain Vikram Batra might have 
achieved self-actualization needs.

22.	 Option (1) is correct.
Explanation: Extinction is 
disappearance of previously learned 
behavior. Partial reinforcement leads 
to production of behavior which is 
more resistant to extinction.

23.	 Option (1) is correct.
Explanation: Mastery orientation 
implies setting the goal of learning 
and mastering the task by establishing 
standards. It focus on learning and 
avoids discussions on competition 
and grades. Each student is being 
focused on learning rather than 
comparing him/her with others.

24.	 Option (3) is correct.
Explanation: Social development and 
environment are correctly matched. 
Social development of an individual 
is the result of the environment in 
which he/ she lives. It is related to 
the transformation of individuals 
and society.

25.	 Option (4) is correct.
Explanation: Children who are 
emotionally and socially fit can 
manage their anger and joy, develop 
good relations and concentrate on 
challenging tasks. They love and 
respect people and have self-control. 
Therefore, concentrate persistently 
on competition with peers is not their 
characteristic.

26.	 Option (3) is correct.
Explanation: Identical twins share 
nearly identical genetic makeup as 
they develop from the same fertilized 
egg, making them genetically very 
similar. However, despite their genetic 
similarities, identical twins can be 
raised in different environments, 
which may include different 
families, schools, neighborhoods, and 
experiences.
The statement highlights the findings 
from research on identical twins 
raised in different homes and their IQ 
scores. When researchers study the 
IQ scores of these identical twins, they 
find that there is a high correlation 
between their IQ scores, often around 
0.75 or higher. This indicates that the 
environment in which the twins are 
raised significantly influences their 
IQ development, even though their 
genetic makeup is almost identical.

27.	 Option (2) is correct.
Explanation: Socialisation helps in 
developing a conscience in the indivi-
duals that fit with society. It helps 
them to prepare for social roles in 
the society.

28.	 Option (3) is correct.
Explanation: Decentering is the 
ability to consider multiple aspects 
of a situation. In theory of cognitive 
development, the third stage is 
Concrete Operational stage. In this, 
a child at the age of 7 years to 12 years 
shows increased use of logic.
In the given scenario, the teacher 
shows two identical glasses filled 
with an equal amount of juice and 
then empties them into two different 
glasses-one taller and one wider. 
The students' difficulty in correctly 
identifying that the amount of juice 
remains the same regardless of 
the glass shape indicates a lack of 
decentring.

29.	 Option (2) is correct.
Explanation: At post conventional 
level, ethical moral thinking and 
moral principles are used. Karnail 
does not want to support a corrupt 

government. He is using his own 
conscience for right actions.

30.	 Option (2) is correct.
Explanation: According to Sternberg, 
human intelligence is the cognitive 
ability to learn from experience. This 
helps in reasoning, remembering 
important information and coping 
with demands of daily living. When 
intelligence is defined and measured, 
real life success will be achieved.

Mathematics and Science
31.	 Option (3) is correct

Explanation: The number of integers 
less than –3 but greater than –8 is
The integers between –8 and –3 are 
–7, –6, –5, –4.
Thus, there are 4 integers less than –3 
but greater than –8.

32.	 Option (3) is correct
Explanation: The distance between 
two places is 12Km.
	 12 km 	= 1000 × 12 m
	12000 m 	= 12000 × 100 cm 
			   = 12,00,000 cm
A map scale is 1: 25,000
Using unitary method,
25,000 cm is equivalent to 1 cm on 
the map.
Then, 12,00,000 cm is equivalent to  

	

12 10
25 10

5

3
×
× 	

=
 

12 10
25

2×

		
= 1200

25
48=

 
cm on the map.

33.	 Option (1) is correct
Explanation: The given term is 
�

�
�3

8
7

13

		

�
�
�3

8
7

13 	
= 3 7

8 13
×
×

			   =
 

21
104

The reciprocal of
 

21
104  

is 104
21  

.

34.	 Option (3) is correct
Explanation:
Given,
		 Number of edges	 = 30,
		 Number of faces	 = 12
 Edges = 30, Faces = 12.
Then according to the Euler’s 
formula is 

F + V – E = 2
Therefore, the number of vertices 
			   = 2 + E – F
			   = 2 + 30 – 12
			   = 20

35.	 Option (4) is correct
Explanation: Let the number be ‘x’, 
half of x is x/2.
Half of this when increased 15, that 
is x/2 + 15 = 39

⇒
	 	

x
2

15+
	
=

 
39
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⇒
	 	

x
2 	

= 39 – 15

⇒	 	 x	 = 24 × 2 = 48
Sum of digits of the original number 
= 4 + 8 = 12

36.	 Option (1) is correct
Explanation: 

P

Q T

62° 62°

34°

R S

In ΔPQT, 
		  PQ	 = PT.
	 	 ∠PTS 	= 62˚ 
and 		 ∠PQT	 = 62˚ 
(Angles opposite to the equal sides of 
an isosceles triangle are also equal.)
In ΔPRS, 	 PR 	= PS.
	 	 ∠RPS 	= 34˚ 
and 		 ∠PSR 	= ∠PRS 
(Angles opposite to the equal sides of 
an isosceles triangle are also equal.)
	 ∠PSR + ∠PRS 	= 180˚ – ∠ 34˚
		  = 146˚
Since, 	 ∠PSR 	= ∠PRS 
		  = 146˚/2
		  =73˚, 
	 ∠PRQ 	= 180 ˚– ∠PRS	
� (Linear pair)
	 ∠PRQ	 = 180˚– 73˚
		  = 107˚
In ∆PQR,
	∠PQR + ∠PRQ + ∠QPR
		  = 180°�  
(Sum of all the angles in a triangle 
is 180°)
Then
 	 ∠QPR 	= 180 ̊ – (∠PQR + ∠PRQ)
		  = 180˚– (62˚ + 107˚)
		  =180˚– 169˚
		  = 11˚

37.	 Option (2) is correct
Explanation: Δ ABC and Δ DEF, the 
correspondence CAB and EDF gives 
a congruence, then, AC = DE
		  AB 	= DF
	 	 ∠A 	= ∠D
	 	 ∠B 	= ∠F
Thus, AB = EF is not true.

38.	 Option (1) is correct
Explanation:
40% × (100 – 20% × 300)

		
=

 

40
100

100
20

100
300� ��

�
�

�
�
�

		
=

 

40
100

100
20
1

3� ��
�
�

�
�
�

		
= 

4
100

100 60( )−

		
= 4

10
40×

 
= 16

39.	 Option (3) is correct
Explanation: Given, the HCF of two 
numbers is 28 and their LCM is 336. 
One number is 112.
We know that, 
HCF × LCM 	= The product of the 
two numbers.
Let the other number be n,
So, 		 HCF × LCM 	 = 112 × n

		
n	 =

 

28 336
112

84
�

�

40.	 Option (1) is correct
Explanation:

		

2
3

x
	
= 0.6

and		  0.02y	 = 1

Then,
	

x
y

+
1

	
=

 

xy
y
+ 1

�
…(i)

Now,

⇒		
x	 = 0 6 3

2
0 9

.
.

�
�

		  0.02y	 = 1

		  y	 =
 

1
0 02.

			 
= 100

2
50=

Putting the values of x and y in 
equation (i) we get,

		
x

y
+

1

	
=

 

xy
y
+ 1

			 
=

 

0 9 50 1
50

. � �

			   =
 

46
50

0 92= .

41.	 Option (1) is correct
Explanation:

Given, 	 y	 = x
x
�
�

2
1

,
 
y ≠ 1, 

		  then x	 = ?

		  y	 = x
x
�
�

2
1

⇒ 		 y(x + 1)	= x – 2
⇒ 		 xy + y	 = x – 2
⇒ 		 x(y –1)	 = – 2 – y

⇒ 		  x	 = 
− −

−
2

1

y
y( )

			 
=
� �
� � �

�
�
�

( )

( )

( )

( )

2

1

2

1

y
y

y
y

42.	 Option (4) is correct
Explanation: Given, perimeter of the 
square = perimeter of the circle.
Let the edge length of the square is 
‘a’ and the radius of the circle be ‘r’.
Therefore,	 4a	 = 2pr

⇒		  a	 =
 

2

4 2

� �r r
�

Area of square : Area of circle
 

		

� �

�
�
�

�
�
�a

r

r

r

2

2

2

2
2

�

�

�  

		
� �
�

�

�2 2

2
4 4

r
r

 Area of square : Area of circle
		  = π : 4

43.	 Option (4) is correct
Explanation: ABCD is a square,
		  AB	 = BC.
⇒	 	 x + 16	 = 3x
⇒	 	 2x 	= 16
So,	 	 x 	= 8 cm
Putting the value of x, in AB 
			   = x + 16 = 8 + 16
			   = 24 cm
Perimeter of the square is 
		  4 × 24	 = 96 cm

44.	 Option (2) is correct
Explanation: Given that the mean of 
the ten numbers is 0.
Then, we can say that the sum of all 
the ten numbers is 0.
Mean

		
= 

Sum of 10 numbers
Number of Observations

or, 	

	
0
	

= 
Sum of 10 numbers

10
So, sum of 10 numbers =0
The sum of 10 numbers + the sum 
of 72 + (–12) 
		  = 0 + 72 – 12 = 60
Now there are 12 numbers.
	New mean

		
= 

Sum of 12 numbers
Total number of observations

		  = 60 ÷ 12 = 5
45.	 Option (4) is correct

Explanation: The circumference of 
the base of a right circular cylinder 
is 44 cm and its height is 15 cm.
		  2pr	 = 44

⇒	 	 r	 =
 

44

2

22

� �
�

The volume of the cylinder is,

		  pr2h	 =
 
�

�
22

15

2
�
�
�

�
�
� �

			 
�

�
�

22 22
15

�

			 
�

� �
�

22 22 7

22
15

			   = 22 × 7 × 15
			   = 2310 cm3

46.	 Option (2) is correct
Explanation: To solve the given 
problem, the student must know the 
terms square, rectangle, congruent, 
perimeter, etc. He divides the square 
into 4 congruent  rectangle whose 
perimeter is 40 units.
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If the perimeter is 40 cm, then each 
side of the square is 10 cm (40/4=10 
cm).

47.	 Option (3) is correct
Explanation: According to Piaget’s 
theory of cognitive development, 
the concrete-operational stage is 
normally between the age of 7 and 
12, when children start to develop the 
capacity to reason rationally about 
mathematics, particularly algebraic 
ideas. This is why many school systems 
start teaching algebra in grades 6 or 
7. Children can comprehend and 
use the fundamental arithmetic 
operations at this stage to resolve 
issues involving real-world situations 
and things. Teachers can support 
students in developing the cognitive 
frameworks and logical reasoning 
abilities necessary for success in 
mathematics and other academic 
fields by giving them opportunity to 
practice algebraic thinking.

48.	 Option (4) is correct
Explanation: When the base is same, 
child clearly understands the rule 
of exponents and powers; however, 
when the base is different, the child is 
unable to comprehend the idea. This 
can be said because the child had 
made a mistake in the problem (b) 
and (e), where the bases are different.

49.	 Option (2) is correct
Explanation: According to Van Hiele’s 
theory of geometric mind, there are 
five different types of geometric 
understanding: visualisation, ana-
lysis, informal deduction, formal 
deduction and rigour. Students 
can recognise and identify simple 
forms and figures at the analysis 
level based on their properties but 
they might not be able to justify 
why those features are true. When 
asked to categorise quadrilaterals 
based on their properties, class VII 
students are expected to recognise 
the fundamental characteristics of 
quadrilaterals (such as the number 
of sides and angles) and use these 
characteristics to divide them into 
various groups (such as squares, 
rectangles, trapezoids, etc.). Students 
at this level are able to analyse and 
classify shapes using their grasp of 
fundamental qualities but they are 
not yet able to properly demonstrate 
why specific properties are true. This 
level of comprehension serves as a 
crucial foundation for more complex 
deductive reasoning and formal 
proof in geometry.

50.	 Option (4) is correct
Explanation: The given activity refers 
to a higher level of cognitive demand 
as it requires the use of conceptual 
understanding to underline the 
procedure to complete the task. 
Cognitively demanding tasks 

are those that call for conceptual 
comprehension in addition to 
procedural completence. Procedural 
knowledge refers to the capability of 
carrying out a specific procedure or 
set of steps to complete a task while 
conceptual understanding refers 
to the capacity to comprehend the 
underlying concepts and principles 
that govern a particular topic or 
process.

51.	 Option (3) is correct
Explanation: The given exercise can 
be utilised as a formative evaluation 
tool as well as a means of reflection.
Students can reflect on their learning, 
pinpoint their areas of strength and 
weakness and create improvement 
plans with the use of reflective 
exercises. These exercises are crucial 
for encouraging metacognition and 
assisting students in taking charge 
of their education.
The activity can be used as part 
of formative assessment to learn 
more about how well students 
understand a certain subject or idea. 
Any assessment that is carried out 
during the learning process with the 
goal of giving feedback that may be 
used to improve learning outcomes is 
referred to as a formative assessment. 
Teachers can assist students in 
identifying areas for improvement by 
giving them feedback on how they 
performed during the exercise.

52.	 Option (4) is correct
Explanation: The definition given by 
the student reflects that the student 
knows some properties but has 
missed some of the most important 
properties of the rectangle to 
complete the definition.

53.	 Option (2) is correct
Explanation: When a learner makes 
a conceptual error, it means that he 
doesn’t comprehend the fundamental 
ideas or rules that underpin a specific 
mathematical operation. If a learner 
does not comprehend how to join 
related terms or how to simplify 
the equation, they may make a 
conceptual error when adding linear 
expressions.

54.	 Option (2) is correct
Explanation: Students can learn the 
importance of saving money and 
using it wisely by using the provided 
question or problem as a teaching 
tool.

55.	 Option (2) is correct
Explanation: The given question 
demands comprehension skill to 
understand what is being asked. 
Strong comprehension abilities are 
essential for both academic success 
and lifetime learning. Teachers 
can assist students in developing 
confidence  autonomous learners 
who can comprehend and analyse 

material in a range of circumstances 
by creating a supportive learning 
environment and teaching effective 
practices.

56.	 Option (4) is correct
Explanation:
p2 – q2

	 = (p + q)(p – q)
	 = �	(32000 + 3–2000 + 32000 – 3–2000)	

	(32000 + 3–2000 – 32000 + 3–2000)
	 = (2 × 32000) (2 × 3–2000)
	 = 4

57.	 Option (1) is correct
Explanation: The square of 9 is 
divided by cube root of 125.

		

81

125
3

	
=

81

5
16

1

5
=

Thus, the remainder is 1.
58.	 Option (2) is correct

Explanation: The value of 16 8 4

			   = 16 8 2
2

			   � �16 8 2

			   = 16 16

			   = 16 4
2

			   = 16 4×

			   = 4 4 4 4 4� � �
		  4 × 2	 = 8	

59.	 Option (2) is correct
Explanation:

		

1 2 10

2

30
. ×

	
=

0 6 10

1

30
. ×

			   = 0.6 × 10 × 1029

			   = 6 × 1029	
60.	 Option (1) is correct

Explanation: Making the denomina-
tor of all the fraction same,

		

2

3

23

30

9

10

11

15

4

5
, , , ,

Taking LCM of 3, 30, 10, 15, 5
		  LCM	 = 30

		

2
3 	

3 27
= 9  = 

30 30
×

		

23
30 	

1 23
= 23  = 

30 30
×

		

9
10 	

3 27
= 9  = 

30 30
×

		

11
15 	

2 22
= 11  = 

30 30
×

		

4
5 	

6 24
= 4  = 

30 30
×

		

20
30

23
30

27
30

22
30

24
30

, , , ,

Arranging this in descending order 
we get,

		

20
30

22
30

23
30

24
30

27
30

, , , ,
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61.	 Option (3) is correct

Explanation: Vermicomposting is a 
process of converting kitchen wastes 
into manure by adding redworms.
This is nature friendly and free of 
chemicals. 
The steps required for the conversion 
of kitchen garbage into manure in 
chronological order is (B), (A), (D) 
and (C).

62.	 Option (4) is correct
Explanation: The relationship 
described in the scenario is an 
illustration of mutualism, a sort of 
symbiotic relationship in which both 
of the involved species are benifited 
from the partnership. In this instance, 
one organism supplies food, while 
the other organism offers necessities 
like shelter, water and nutrition. 
Both creatures are dependent on 
one another in order to survive 
and procreate. Natural systems, 
from coral reefs to the microbiome 
in animals’ guts, exhibit mutualistic 
connections frequently.

63.	 Option (1) is correct
Explanation: The process of moving 
swallowed food downwards in the 
alimentary canal is called peristalsis. 
Peristalsis is a wave-like muscular 
contraction that happens along the 
walls of the oesophagus, stomach and 
intestines and aids in the movement 
of food through the digestive tract. 
However, the oesophagus or food 
pipe cannot actively contract to 
move food downward. Instead, a 
coordinated series of contractions 
and relaxations caused by the 
involuntary muscle contractions 
of the smooth muscle tissue in the 
walls of oesophagus propels the food 
towards the stomach.

64.	 Option (4) is correct
Explanation: The ability to exchange 
gases (oxygen and carbon dioxide) 
through the skin is common in frogs 
and some species of earthworms. 
Frogs’ moist, slimy skin helps to speed 
up this procedure by expanding 
the surface area available for gas 
exchange.

65.	 Option (1) is correct
Explanation:
Total time is 1 hour.
	Total distance	 = Initial reading �
� – final reading
		  = 78806 – 78752
		  = 54 km
The average speed of the bus in the 
entire journey in metres per second 
is,

	 54km/hr	 = 54  m/s× ×
1000

60
60

		
= 54 ×

5
15  

m/s

		  = 15 m/s
66.	 Option (4) is correct

Explanation: Optical tools that can 
be used to obtain an enlarged image 
of an item include convex lens and 
concave mirrors. A concave mirror 
creates a real and inverted image 
of the object when it is positioned 
in front of it because the light rays 
are reflected and come together at a 
single point. By bringing the object 
closer to the mirror, the image can be 
made larger.
Similar to how a convex lens creates a 
real and inverted image when an item 
is placed in front of it, the lens bends 
light rays such that they converge at 
a single point. You may enlarge this 
image by bringing the lens closer to 
the subject.

67.	 Option (2) is correct
Explanation: Paddy, maize, cotton 
and soya bean are the Kharif crops 
also known as the summer crops. 
Crops known as kharif are planted in 
India during the rainy season, which 
normally lasts from June to September. 
Warm temperatures and a lot of water 
are needed for the growth of these 
crops. Rice, maize, sorghum, millet, 
cotton, sugarcane and soybeans 
are a few examples of Kharif crops. 
The states of Maharashtra, Andhra 
Pradesh, Telangana, Tamil Nadu and 
Karnataka are where these crops are 
primarily farmed.

68.	 Option (3) is correct
Explanation: By lowering the 
quality and quantity of the crop that 
is harvested, weeds might hinder 
harvesting. The main crop may be 
forced to suffer from limited growth 
and decreased output as a result of 
weeds competing with it for nutrients, 
water and sunlight. Except these, 
the presence of weeds can make it 
difficult for harvesting equipment to 
run smoothly, which could harm the 
crops or reduce equipment efficiency. 
Weeds must be kept under control 
during the growing season to avoid 
obstructing the harvest. Hence, the 
statements B, C and D are correct.

69.	 Option (4) is correct
Explanation: Colourless, odourless 
and extremely flammable hydrogen 
gas is formed when aluminium foil 
is put to freshly made sodium hydro-
xide solution. It ignites with a light 
blue flame and produce a pop sound 
when a burning match stick is bought 
near it. When aluminium foil reacts 
with sodium hydroxide solution, 

hydrogen gas is released as a result 
of the aluminium metal displacing 
hydrogen ions from the sodium 
hydroxide solution.
The properties of the gas can be 
correctly stated by statement (4) that 
is a colourless and odourless gas 
which produces a ‘pop’ sound when 
a burning match stick is brought near 
it.

70.	 Option (4) is correct
Explanation: A metal oxide is basic 
in nature and changes blue litmus 
paper to red whereas non-metallic 
oxides are acidic in nature and turn 
red litmus paper blue.
Thus, sulphur dioxide will be acidic 
in nature as sulphur is a non-metal 
and it will change the colour of blue 
litmus paper to red.

71.	 Option (3) is correct
Explanation: Natural resources 
that are exhaustible have a limited 
supply and will eventually be dep-
leted. Minerals like iron, copper and 
aluminium as well as fossil fuels 
like coal, oil and natural gas are a 
few examples of exhaustible natural 
resources. These resources, which 
took millions of years to develop, are 
being depleted much more quickly 
than they can be replaced. They 
cannot be replenished in our lifetimes 
once they are consumed.
Similarly, wildlife is an example of 
exhaustible resources because it is 
depleting due to human activities 
and exploitation. In contrast, renew-
able energy sources like wind and 
solar electricity can replenish them-
selves spontaneously and are not 
anticipated to run out. Overusing 
finite natural resources can harm 
the ecosystem and contribute to 
problems like pollution and climate 
change.

72.	 Option (3) is correct
Explanation: The term “endemic 
species” refers to organisms that are 
naturally present only in a single area 
or region of the planet. These species 
are frequently very specialised and 
have evolved special adaptations to 
live in their particular habitat. Various 
ecosystem types, including islands, 
mountains, forests and deserts, 
support endemic species. Due to 
their narrow range, endemic species 
are frequently in danger of going 
extinct if their habitat is damaged 
or altered due to human activity or 
other environmental reasons. The 
protection of these species and their 
distinctive environments depends on 
conservation efforts.
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73.	 Option (1) is correct

Explanation: The components of a 
cell’s nucleus called chromosomes 
store DNA-based genetic material. 
Genes are sections of DNA that 
contain instructions for how the body 
should develop and work.
Genetics is the study of how traits 
are passed down via families. An 
understanding of genetics can be 
used to forecast the possibility that 
particular features will be passed 
down to future generations as well 
as to help explain why certain traits 
run in families.

74.	 Option (3) is correct
Explanation: Along with other 
organelles like mitochondria, ribo-
somes, lysosomes and the endo-
plasmic reticulum, an animal cell 
distinguished by a membrane-bound 
nucleus. The cell membrane, which is 
composed of a phospholipid bilayer, 
acts as a protective barrier that 
controls how chemicals enter and exit 
the cell. Cell wall and chloroplast are 
absent in animal cell.

75.	 Option (2) is correct
Explanation: The set of correct 
combination are
Ovulation → Egg → Oviduct → 
Uterus.
Ovary produces one egg every month 
by the process of ovulation.This egg 
is carried from ovary to oviduct and 
transplanted in uterus.
Sperms → Testis → Sperm Duct → 
Penis.
Sperms are formed in testis.These are 
passed through sperm duct to penis.
Menstruation → Egg → Oviduct → 
Uterus
If an egg remains unfertilized,the 
uterus lining shed off and it comes 
out of vagina with blood and mucus.
This process is called menstruation.

76.	 Option (4) is correct
Explanation: Iodine is required for 
the production of thyroxine hor-
mone, which is essential for the trans-
formation of tadpoles into frogs. 
Tadpoles may develop abnormally 
or even die if there are insufficient 
levels of iodine in the water, which 
could affect the synthesis of the 
hormone thyroxine. Iodine must 
therefore be present in water to 
ensure appropriate transformation 
of tadpoles into healthy adult frogs.

77.	 Option (2) is correct
Explanation: At the upper primary 
level, teaching science focuses on 
cultivating a scientific mindset, a 
sense of wonder and an interest in 
the world around us, rather than 
just teaching students how to use 
technology. Developing a conceptual 

knowledge of scientific ideas and the 
capacity to apply them in practical 
contexts is the main goal. Although 
acquiring technological skills is 
crucial, teaching science in upper 
primary schools does not have only 
one goal in mind.

78.	 Option (4) is correct
Explanation: The National Curricu-
lum Framework (NCF) for School 
Education places a strong emphasis 
on using a positive teaching and 
learning strategy when it comes 
to science in upper primary. NCF 
contends that by engaging in practical 
activities and experiments, students 
should be encouraged to investigate, 
inquire, think critically and creatively 
and build their own knowledge of 
scientific subjects. Instead of having 
pupils memorise scientific concepts 
and facts, the emphasis should be 
on helping them improve their ability 
to think critically and solve problems. 
The goal of the constructive approach 
in science education is to foster in 
students a lifelong interest in science 
as well as scientific knowledge.

79.	 Option (1) is correct
Explanation: The degree to which the 
curriculum is created to satisfy the 
cognitive demands and abilities of the 
students is referred to as “Cognitive 
Validity” in the context of curriculum. 
The curriculum for upper primary 
pupils should be developmentally 
and cognitively appropriate for their 
age group. The curriculum should 
give pupils the chance to investigate, 
learn about and build their grasp 
of scientific ideas and principles. 
Additionally, it ought to promote 
the growth of students’ analytical, 
investigative and problem-solving 
abilities. The scientific curriculum can 
aid students’ learning and promote 
their interest and engagement in 
science by putting a strong emphasis 
on cognitive validity.

80.	 Option (2) is correct
Explanation: A scientific tempera-
ment is defined by an open-minded 
and objective attitude towards new 
theories and data. It calls for people to 
base their thoughts and opinions on 
facts and logic rather than their own 
prejudices and biases. Therefore, a 
person with a scientific temperament 
should make an effort to avoid 
having biased opinions and to keep 
their thought and decision-making 
processes objective.

81.	 Option (4) is correct
Explanation: In the NCERT science 
textbook, some questions are purpose-
fully left unanswered to inspire pupils 
to investigate and look for solutions 

on their own. With this strategy, 
students are encouraged to develop 
critical thinking, independent learn-
ing and curiosity. The authors of 
the textbook encourage students to 
conduct research and inquiry-based 
learning by leaving some questions 
unanswered, which aids in their 
development of a deeper under-
standing of scientific concepts and 
procedures. Additionally, it fosters 
creativity, problem-solving abilities 
and preparing students to take on 
real-world challenges.

82.	 Option (1) is correct
Explanation: The accuracy of the 
readings can actually be impacted 
by washing a thermometer with hot 
water. Before and after every use, 
the thermometer should be washed. 
One should never use hot water for 
washing the thermometer. To get 
reliable readings, it’s crucial to use 
a clinical thermometer carefully and 
take the necessary safety measures. 
While taking the reading, the bulb 
shouldn’t be held as this could alter 
the result. It is crucial to check that the 
mercury level is below 35°C prior to 
use. Additionally, the mercury should 
be at eye level.

83.	 Option (4) is correct
Explanation: The NCERT science 
textbook for class VIII’s section on 
“activities and projects” primarily 
attempts to give students opportunity 
to engage in experiential learning 
and to investigate science outside 
of the classroom. These projects and 
activities challenge students to think 
critically and apply their knowledge in 
authentic settings and they frequently 
entail practical experimentation, data 
collection and analysis. Students can 
gain a deeper grasp of scientific ideas 
and procedures by participation in 
these activities and projects, as well 
as acquire abilities like cooperation, 
communication and problem-
solving.

84.	 Option (3) is correct
Explanation: Student innovation and 
original ideas in science and tech-
nology can be displayed through 
science exhibitions. It challenges 
them to think creatively and develop 
original solutions to difficulties 
encountered in the real world. 
Students can connect with scientists, 
researchers and specialists from a 
variety of fields at exhibitions and gain 
knowledge from their experiences. 
Additionally, science exhibitions 
aid in educating the general public 
about the most recent advancement 
in science and technology.
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85.	 Option (3) is correct

Explanation: Science lessons on the 
idea of pressure exerted by liquids 
and gases can be effectively taught 
by having students engage in a 
practical experience before having 
class discussions. It encourages the 
development of practical skills and 
enables active student participation 
in the learning process. Students have 
the chance to clarify any questions 
they may have and deepen their 
comprehension of the idea during the 
conversations that follow the activity. 
Students who may have trouble 
comprehending the idea through 
conventional classroom lectures or 
textbook readings alone may find 
this method to be especially helpful.

86.	 Option (1) is correct
Explanation: Science teaching and 
learning can both benefit greatly from 
the questioning strategy used in the 
classroom. Teachers can assess their 
students’ conceptual knowledge, 
foster their ability to think critically 
and encourage active engagement 
in the learning process by using 
effective questioning techniques.
Teachers can aid students in grasping 
scientific concepts by posing open-
ended questions that force them 
to reflect deeply and apply their 
knowledge. Teachers can also utilise 
questioning to get their pupils to come 
up with their own inquiries, which 
can raise interest in the material and 
drive to study.

87.	 Option (2) is correct
Explanation: The steps in the correct 
order to test the presence of protein in 
a food item are B, A, D and C.
That is:
•	 make the paste or powder or 

paste of the food to be tested.
•	 take a small portion of it in a test 

tube and add 10 drops of water 
and mix it well.

•	 add 2 drops of copper sulphate 
into it.

•	 add 10 drops of caustic soda 
solution to it and mix well, which 
helps to identify the presence of 
protein.

The reaction between the copper 
sulphate and the protein molecules 
produces a violet colour that confirms 
the presence of protein in the food 
item.

88.	 Option (2) is correct
Explanation: The pistil or carpel is 
the name for the flower’s female 
portion. The ovary, style and stigma 
are parts of the reproductive organ in 
question. One or more ovules in the 
ovary have the potential to become 
seeds when pollen fertilises them. 

The stigma, which is the sticky or 
feathery structure on top of the pistil 
that collects pollen, is connected to 
the ovary by a long, thin structure 
called the style. For reproduction 
as well as the generation of fruit 
and seeds, the female portion of the 
flower is essential.

89.	 Option (1) is correct
Explanation: A muscle pair known as 
an antagonistic muscle pair coopera-
tes to move a bone. Movement is 
made possible by the contraction of 
one muscle while the relaxation of 
another. For instance, the triceps relax 
when the biceps tighten, allowing the 
arm to bend. The triceps contract, the 
biceps relax and the arm straightens 
as a result. The precise control and 
movement of the body’s bones is 
made possible by the synergistic 
contraction of opposing muscles.

90.	 Option (2) is correct
Explanation: The biotic component 
of a habitat is represented by aquatic 
plants, frogs, fish and insects. Animals, 
plants, fungus and microorganisms 
are examples of the living things that 
make up a habitat’s biotic compo-
nents. To create an ecosystem, these 
organisms interact with one another 
and the abiotic elements of the habi-
tat, such as the soil, water and air. 
Each of these living things is essential 
for  sustainability and balance of the 
ecosystem.

Language: English
91.	 Option (1) is correct.

Explanation: Modern technology 
empowers mentors by allowing 
them to observe their own lessons 
in a more detailed and systematic 
manner. Mentors can gain valuable 
insights into their teaching practices 
improve their pedagogical skills, and 
continuously improve their lessons 
for the benefit of their students 
using video recordings, annotation 
tools, data analytics, and other 
technological advancements.

92.	 Option (2) is correct.
Explanation: Teachers can now 
observe and evaluate each other’s 
work thanks to advancements in 
technology. Teachers can engage in 
remote observation, share feedback 
asynchronously, or participate in 
real-time discussions using video 
recordings, online platforms, and 
video conferencing tools. This 
collaborative approach to peer 
observation fosters professional 
development, encourages the 
exchange of best practises, and 
ultimately improves teaching 

practises for the benefit of both 
teachers and students.

93.	 Option (4) is correct.
Explanation: Sir Tim then encouraged 
schools to focus on activities that 
were low effort but high impact, 
describing them as “butterflies”. 
Some examples he gave included 
rotating staff meetings around 
different classrooms with the host, at 
the start, describing the room layout 
and displays, or discussing other 
teaching techniques and approaches.

94.	 Option (4) is correct.
Explanation: Technology is critical in 
assisting teachers in self-diagnosing 
and reflecting on their teaching 
practices. It provides a variety of tools 
and resources to help teachers collect 
data, analyse instructional methods, 
and make informed decisions to 
improve their teaching effectiveness.

95.	 Option (1) is correct.
Explanation: Synonym of visible is 
‘seen’.

96.	 Option (3) is correct.
Explanation: Rotation, or the practise 
of teachers engaging in collaborative 
discussions about their teaching 
practises and approaches, is an 
important strategy for promoting 
professional growth and improving 
teaching effectiveness.

97.	 Option (2) is correct.
Explanation: Counselling means 
mentoring, in which professional 
advice is given by mentors.

98.	 Option (3) is correct.
Explanation: The talk by sir Tim is 
about the knowledge teachers gain 
for job growth.

99.	 Option (2) is correct.
Explanation: "Butterflies" in this 
passage refers to the teachers who 
go out in groups to learn from other 
staff members.

100.	 Option (4) is correct.
Explanation: Divergent questions 
begin with a prompt and require 
students to think creatively and 
critically to identify multiple potential 
answers. The question in the poem is 
a divergent question.

101.	 Option (2) is correct.
Explanation: The opposite of harsh 
is mild which means easy and light.

102.	 Option (2) is correct.
Explanation: The statement is ‘you’re 
growing so fast, it sends me a whirl’. 
Thus, ‘It’ means growing up.

103.	 Option (3) is correct.
Explanation: Mother is teaching her 
daughter to become a fearless person. 
Refer to the lines, "You must stand up 
tall means without fear."
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104.	 Option (2) is correct.

Explanation: Mother wants her 
daughter to overcome challenges and 
become winner.

105.	 Option (2) is correct.
Explanation: The poem addresses a 
daughter. The poetess is her mother.

106.	 Option (2) is correct.
Explanation: For making a request, 
use of please is necessary to indicate 
politeness and respect.

107.	 Option (1) is correct.
Explanation: Words with same 
pronunciation are homonyms. Aisle 
and isle are pronounced same, but 
have different meaning and different 
spellings. Hence, this is the correct 
answer.

108.	 Option (1) is correct.
Explanation: A lexical word is a 
type of word that carries semantic 
meaning and contributes to the core 
content of a sentence. It is also known 
as a content word or open-class word. 
Nouns, verbs, adjectives, and adverbs 
are the most common lexical words.

109.	 Option (4) is correct.
Explanation: A passive sentence uses 
the verb form. The tense of the verb 
changes when the sentence changes 
from active to passive.

110.	 Option (2) is correct.
Explanation: Modal verbs are 
auxiliary verbs such as will, could, 
shall, might, should. Here, the two 
statements are showing the usage or 
meaning of modal verbs. 

111.	 Option (4) is correct.
Explanation: Evaluation involves 
analytical abilities, which are of 
higher order thinking domain.

112.	 Option (1) is correct.
Explanation: Compounding and 
affixes are the processes of formation 
of words. Prefixes and suffixes 
play important role in the process 
of affixation of word formation. 
Compounding contains two or more 
root words.

113.	 Option (3) is correct.
Explanation: Decoding means to 
analyse and understand. It helps 
in comprehending the text by 
making sounds to figure out a word. 
Decoding also means translating the 
message from its sign format.

114.	 Option (1) is correct.
Explanation: Marks would be 
deducted for speaker 1 as he was not 
attentive in listening.

115.	 Option (2) is correct.
Explanation: Ellipsis means a series 
of dots. It implies an intentional 
omission of a word.

116.	 Option (3) is correct.
Explanation: A report is a brief 
paragraph about an event or an 
experience, written by third person. 
Ideas are logically arranges in a 
report.

117.	 Option (3) is correct.
Explanation: Past perfect continuous 
is an action that began in the past and 
continued up to another point in the 
past.

118.	 Option (3) is correct.
Explanation: An equal balance of 
man and woman assures that there 
is no gender inequality.
Gender sensitization education" refers 
to education based on the teaching 
that propagates gender equality by 
improving curriculum and textbooks 
to include gender-positive material 
and any other learning activities that 
promote gender equality.

119.	 Option (3) is correct.
Explanation: Clutch of ducks is 
incorrect, rather it should be group 
or flock of ducks.

120.	 Option (2) is correct.
Explanation: To funnel or restrict the 
respondent’s answer means to give 
the possible answer. It starts with 
open-ended questions but ends with 
closed questions. There is a specific 
answer to the question, “how many 
books are there?” Other questions are 
open ended.

Language: Hindi

121.	 fodYi (4) mfpr gSA

O;k[;kµx|ka'k esa ys[kd us f'k{kk dk vFkZ 

cPpksa esa fo|eku 'kfDr;ksa dks çLQqfVd djuk 

crk;k gSA

dgrs gSa fd f'k{kk ckyd ds tUe ds lkFk 

ckyd dks feyh çfrHkk dk fodkl gSA mldh 

lksbZ gqbZ 'kfDr;ksa dks txkus dk uke gh f'k{kk 

gSA exj ,slk rks rc lEHko gS tc ge ;g tku 

ysa fd dkSu&dkSu&lk ckyd dkSu&dkSu&lh 

çfrHkk ds lkFk iSnk gqvk gS\

122.	 fodYi (4) mfpr gSA

O;k[;kµys[kd ds vuqlkj lksbZ gqbZ 'kfDr;ksa 

dks txkus dk uke f'k{kk gSA exj ,slk rks 

rc lEHko gS tc ge ;g tku ysa fd 

dkSu&dkSu&lk ckyd dkSu&dkSu&lk ckyd 

dkSu&dkSu&lh çfrHkk ds lkFk iSnk gqvk gS\ 

mlds 'kjhj esa ,oa mlds eu&efLr"d esa 

dkSu&dkSu&lh 'kfDr;k¡ lkbZ gqbZ gSa\ mldh 

çnÙk çfr{kk D;k gS\ vkSj dkSu&dkSj&lh 

lq"kqIr 'kfDr;ksa dks fy, gq, og gekjs lkeus 

mifLFkr gqvk gSA

123.	 fodYi (3) mfpr gSA
O;k[;kµcPpksa dks f'k{kk nsus ds fy, lcls 
igys ;g t:jh gS fd cPpksa dh leLr 
{kerkvksa] çfrHkkvksa dks tkuus ds fy, mUgsa 
i<+ukA
x|ka'k esa ys[kd us crk;k gS fd ckyd esa 
dkSu&lh çfrHkk gS\ rFkk mlds 'kjhj esa ,oa 
mlds eu&efLr"d esa dkSu&dkSu&lh 'kfDr;k¡ 
lksbZ gqbZ gSa\ blds fy, ;g vko';d gS fd 
tks&tks ckyd ikB'kkyk esa vk;k gS mldks 
ge igys i<+saA

124.	 fodYi (3) mfpr gSA
O;k[;kµbl x|ka'k esa f'k{kk dk ;g fl¼kUr 
fufgr gS fd 'kfDr;k¡ lnSo lq"kqIr voLFkk 
esa gh jgrh gSaA
ys[kd us crk;k gS fd ckyd çfrHkk ds lkFk 
iSnk gksrk gSA ;g çfrHkk vkSj 'kfDr;k¡ lq"kqIr 
voLFkk esa gksrh gSaA mldh lksbZ gqbZ 'kfDr;ksa 
dks txkus dk uke gh f'k{kk gSA

125.	 fodYi (2) mfpr gSA
O;k[;kµ^gj ckyd dks i<+&i<+ dj igpkus 
fd og D;k gS\* okD; esa ^igpkus* fØ;k dk 
drkZ ^ge* gks ldrk gSA
drkZµ
(i)	� tks okD; esa dk;Z dks djrk gS] og drkZ 

dgykrk gSA
(ii)	� blesa dk;Z dks djus okys dk irk pyk 

gSA
(iii)	�� drkZ dkjd esa foHkfDr fpUg ds :i esa 

^us* dk ç;ksx gksrk gSA

126.	 fodYi (3) mfpr gSA
O;k[;kµ^mldh çnÙk çfrHkk D;k gS\* okD; 
ç'uokpd gSA
okD;µ
(i)	� 'kCnksa ds O;ofLFkr :i dks okD; dgrs 

gSaA
(ii)	� ;g nks ;k nks ls vf/kd inksa dk lkFkZd 

lewg gksrk gS] ftldk iwjk vFkZ fudyrk 
gSA

vFkZ ds vk/kkj ij okD; ds Hksnµ
(i)	� fo/kku okpd
(ii)	� fu"ks/kokpd
(iii)	� ç'uokpd
(iv)	� foLE;kfnokpd
(v)	� vkKkokpd
(vi)	� bPNkokpd
(vii)	�ladsrokpd
(viii) lUnsgokpd
ç'uokpdµ
(i)	� ftu okD;ksa ds }kjk ç'u fd;k tkrk 

gS] mUgsa ç'uokpd okD; dgrs gSaA

127.	 fodYi (3) mfpr gSA
O;k[;kµ^'kjhj* esa ^bd* çR;; yxus ij 
^'kkjhfjd* 'kCn cusxkA
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çR;;µ
(i)	� os 'kCnka'k tks nwljs 'kCnksa ds vUr esa 

tqM+dj vFkZ esa ifjorZu dj nsrs gSa] 

mUgsa çR;; dgrs gSaA

(ii)	� mnkgj.k ds fy,µ csy $ vu = 
csyuA

128.	 fodYi (2) mfpr gSA
O;k[;kµys[kd ds vuqlkj f'kf{kr gksuk vkSj 

lk{kj gksuk nksuksa esa ewyHkwr vUrj gksrk gSA

129.	 fodYi (2) mfpr gSA
O;k[;kµ;gk¡ ^i<+k&fy[kk* gksus ls rkRi;Z gS 

vf'kf{kr gksukA

x|ka'k esa ys[kd us crk;k gS fd esjs xq# Jh 

n;kypUæ th lksuh rks iwjh ,d dkO;kRed 

iqLrd fy[k x,A bl iqLrd dk uke gS 

^gw¡ f'kf{k gw¡A* mudk vk'k; Li"V gS fd gj 

i<+k&fy[kk vkneh vui<+ gSA mUgksaus tc ;g 

iqLrd fy[kh rks lkQ dgk fd ;g fdrkc 

muds iwjs thou dh f'k{kk dk lkj gSA rc 

fQj gesa ;g Hkh eku ysuk pkfg, fd gekjk iwjk 

i<+k&fy[kk lekt [kklk vui<+ gSA

130.	 fodYi (3) mfpr gSA
O;k[;kµ^fxjs fopkj* ls rkRi;Z gS lR; vkSj 

fgr ls ijs fopkjA fxjs fopkj ds vUrxZr 

iki }s"k bR;kfn 'kkfey gksrs gSa] tks vlR; 

dks egRo nsrs gSaA fxjs fopkjksa esa fdlh dk 

fgr fufgZr ugha gksrkA

131.	 fodYi (2) mfpr gSA
O;k[;kµukStoku 'kghn us vfXu&ck.k 

blfy, pyk, D;ksafd og lqjkt LFkkfir 

djuk pkgrk FkkA dfo us fy[kk gS fdµ

ßog pyk fd vfXu&ck.k ekjrk]

	 iki dh vgk&vgk mtkM+rk]

otz cu fxjk fxjs fopkj ijAÞ

132.	 fodYi (4) mfpr gSA
O;k[;kµ^nqjko* 'kCn ls rkRi;Z cSj ls gSA tgk¡ 

vgadkj Qjsc fo|eku gksrk gS] ogk¡ lR; nwj 

jgrk gS vFkkZr~ vgadkj dk lR; ls cSj gksrk gSA

133.	 fodYi (2) mfpr gSA
O;k[;kµ^tgk¡&tgk¡* 'kCn esa iqu:Dr 

'kCn&;qXe gSA

iqu:Dr 'kCnµ
(i)	� tc fdlh 'kCn dh ,d lkFk nks ckj 

vko`fÙk gksrh gS vkSj mudk leku vFkZ 

çdV gksrk gS rks mls iqu:Dr 'kCn 

dgrs gSaA

(ii)	� mnkgj.k ds fy,µ /khjs&/khjs] xM+&xM+ 

bR;kfnA

iqu:Dr 'kCn ds çdkjµ
(i)	� iw.kZ iqu:Dr

(ii)	� viw.kZ iqu:Dr

(iii)	� çfr&/oU;kRed iqu:Dr

(iv)	� fHkUukRed iqu:Dr

134.	 fodYi (3) mfpr gSA
O;k[;kµ^iki* dk foykse 'kCn ^iq.;* gSA

foykseµ
(i)	� ,d&nwljs ds foijhr ;k mYVk vFkZ 

çdV djus okys 'kCnksa dks foykse 'kCn 

dgrs gSaA

(ii)	� mnkgj.k ds fy, gkj dk thr] vktknh 

dk xqykeh bR;kfnA

135.	 fodYi (4) mfpr gSA
O;k[;kµukStoku 'kghn us vgadkj vkSj 

vlR; dks u"V fd;k gSA dfo us viuh ;g 

ckr bu iafDr;ksa ds ek/e; ls bl çdkj 

O;Dr dh gSµ

ßnEHk dk tgk¡&tgk¡ iM+ko Fkk]

	 lR; ls tgk¡&tgk¡ nqjko Fkk]Þ

136.	 fodYi (4) mfpr gSA
O;k[;kµmPp çkFkfed Lrj ij dgkuh] 

dfork i<+us ds ckn ;g t:jh gS fd cPps 

mUgsa vius vuqHko lalkj ls tksM+ ldsaA

eq[; fcUnqµ
(i)	� dgkuh vkSj dfork cPpksa dks lekt ls 

tksM+rh gSA

(ii)	� dYiuk'khy cukus esa lgk;d gSA

(iii)	� l`tukRed 'kfDr dk fodkl gksrk gSA

(iv)	� ckydksa dks O;ogkj dq'ky cukrh gSA

dgkuh] dfork thou&txr ls tqM+s gksus pkfg, 

rkfd ckydks dks muds vuqHko lalkj ls 

tksM+rs gq, rFkk muds esa O;ogkfjd Kku dk 

fodkl djrs gq, cPpksa ds laosnuk&yksd dh 

lkFkh cu ldsaA

137.	 fodYi (1) mfpr gSA
O;k[;kµIysVks dk ;g dFku gS fd ^cPpk 

cM+ksa ds chp ,d fons'kh dh rjg gksrk gSA 

;g bl Hkkf"kd lPpkbZ dh vksj ladsr djrk 

gS fd cPps viuh Hkk"kk esa cksyrs gSa ftls cM+s 

lgh&lgh ugha le> ikrsA

cPpk vR;Ur NksVk gksrk gS vkSj mls Hkk"kkbZ 

Kku ugha gksrkA og çkjEHk esa vius gko&Hkko 

ds ek/;e ls ;k ladsr ek/;e ls viuh ckr 

dgrk gSA og ftl ifjos'k esa jgrk gS] ogha 

dh Hkk"kk xzg.k djrk gSA

ykMZ eSdkys ds erkuqlkj] ßckyd ml Hkk"kk 

dks 'kh?kz lh[krk gS] ftldk O;kdj.k og 

ugha tkurkAÞ

pkWELdh ds vuqlkj] ßtUe ls cPps lkoZHkkSfed 

Hkk"kk fl¼karksa dks le>us dh {kerk j[krs gSaAÞ

okbxksRLdh ds vuqlkj] ßcPps lkekftd 

var%fØ;k ls Hkk"kk lh[krs gSaAÞ

fi;kts ds vuqlkj] ßHkk"kk ifjos'k ds lkFk 

var%fØ;k ls lh[kh tkrh gSAÞ
138.	 fodYi (3) mfpr gSA

O;k[;kµ^Hkk"kk dh d{kk* esa dgkfu;k¡ fofHkUu 

çdkj dh lajpuk,¡ vkSj fpUru&fodkl dh 

lEHkkouk,¡ fy, gksrh gSaA

eq[; fcUnqµ
(i)	� dYiuk'khy cukus esa lgk;d gSA

(ii)	� vius vuqHkoksa dh vfHkO;fDr dk lgh 

ek/;e gSA

(iii)	� l`tukRed 'kfDr ds fodkl esa lgk;d 

gSA

(iv)	� dgkfu;k¡ ckydksa dks lekt vkSj 

laLÏfr ls tksM+rh gSaA
;g nqfu;k dh çÏfr dh dYiuk vkSj vUos"k.k 
djus dh {kerk dks c<+kok nsrk gSA

;g mUgsa vius Lo;a ds vuqHkoksa ds vkèkkj 
ij vFkZ dk fuekZ.k djus esa l{ke cukrk gSA

139.	 fodYi (2) mfpr gSA
O;k[;kµjk"Vªh; ikB~;p;kZ dh :ijs[kk 2005 
ds vuqlkj Hkk"kk&f'k{k.k ,d çdkj ls vU; 
fo"k;ksa dh d{kkvksa esa Hkh ekStwn jgrk gSA

	 jk"Vªh; ikB~;p;kZ dh :ijs[kk (2005)µ
(i)	� Kku dks Ldwy ds ckgjh thou ls tksM+k 

tk,A

(ii)	� i<+kbZ dks jaVr ç.kkyh ls ;qDr j[kk 

tk,A

(iii)	� ikB~;p;kZ ikB~;Øe dsfUær u gks cfYd 

cky dsfUær gksA

(iv)	� d{kk&d{k dks xfrfof/k;ksa ls tksM+k tk,A

(v)	� f'k{k.k vf/kxe esa ekr~Hkk"kk dk ç;ksx 

djsaA

(vi)	� lekos'kh f'k{kk ij cy fn;k tk,A

(vii)	�fof'k"V ckydksa vkSj lkekU; ckydksa 

nksuksa dks ,d lkFk lekos'kh d{kk esa 
i<+k;k tk,A

,d lekos'kh d{kk lHkh ckydks dks ,d lkFk 
o leku f'k{kk xzg.k djus dh vuq'kalk djrh 
gS] pkgs oks Hkk"kk] O;ogkj] 'kkjhfjd :i ls 
fdrus gh vleku D;ksa u gksA

140.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk&dkS'kyksa ds lUnHkZ esa ;g dFku 
lgh gS fd lHkh dkS'ky ,d&nwljs ds lkFk 
vUr% lEcfU/kr gksrs gSaA
Hkk"kk dkS'kyµ
(i)	� Hkk"kk ds Bhd ls dke djus dh ;ksX;rk 

gkfly djuk gh Hkk"kk dkS'ky gSA

(ii)	� Hkk'kk ds eq[; pkj dkS'ky gSaµlquuk] 

cksyuk] i<+uk vkSj fy[kukA
Hkk"kk dkS'ky dks nks Hkkxksa esa ck¡Vk x;k gSµ
(i)	� ç/kku dkS'kyµ ;g lEçs"k.k esa lg;ksx 

nsrk gSA blesa nks eq[; dkS'ky gSaµ 
lquuk vkSj cksyukA

(ii)	� xkS.k dkS'kyµ ckyd ifjokj] lekt 

vkSj fo|ky; ls Hkk"kk lh[krk gSA blds 
Hkh nks Hksn gSaµ i<+uk vkSj fy[kukA

ftl çdkj dh Hkk"kk ge lqurs gSa vuqdj.k 
}kjk mlh çdkj dh Hkk"kk ge mPpkfjr djrs 
gSaA mPpkfjr rFkk ifBr Hkk"kk gh gekjh orZuh 
(fy[kus) dh 'kq¼rk dk vk/kkj curh gSA Hkk"kk 
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ds pkjksa dkS'ky ,d&nwljs ls var%lacafèkr gksrs 

gSa] bUgs ,dhÏr :i ls i<+uk pkfg,A

141.	 fodYi (2) mfpr gSA
O;k[;kµmPp çkFkfed Lrj ij Hkk"kk dh 

ikB~;&iqLrd esa fofo/k çdkj dh lkfgfR;d 

jpukvksa ds lekos'k dk eq[; mís'; ;g gSµ 

fofHkUu çdkj dh lkfgfR;d fo/kkvksa dh 

Hkk"kkbZ lajpukvksa ls ifjfpr gksus dk volj 

nsukA

eq[; fcUnqµ
(i)	� fofHkUu lkfgfR;d fo/kkvksa ls ckyd dks 

ifjfpr djkukA

(ii)	� lkfgfR;d fo/kkvksa dh le> fodflr 

djukA

(iii)	� l`tukRed 'kfDr dk fodkl djukA

(iv)	� Hkk"kk Kku rFkk 'kCn HkaMkj esa o`f¼ 

djukA

vr% fu"d"kZ fudyrk gS fd mPp çkFkfed 

Lrj ij Hkk"kk dh ikBî&iqLrd esa fofo/k 

çdkj dh lkfgfR;d jpukvksa ds lekos'k dk 

eq[; mís'; gSµfofHkU‍u çdkj dh lkfgfR;d 

fo/kkvksa dh Hkk"kk;h lajpukvksa ls ifjfpr gksus 

dk volj nsukA

142.	 fodYi (3) mfpr gSA
O;k[;kµjf'e viuh d{kk dks ckgj eSnku 

esa ys tkrh gS vkSj i;kZoj.k ij vk/kkfjr 

dfork&ikB dk dk;Z djrh gSA jf'e dk mís'; 

gS fd eSnku ds çkÏfrd okrkoj.k ds lkFk 

lEcU/k tksM+rs gq, dfork dks le>us dk 

volj nsukA

eq[; fcUnqµ
(i)	� d{kk dks okLrfod thou ls tksM+dj 

f'k{k.k nsukA

(ii)	� okLrfod vuqHko ds fodkl esa lgk;d 

gSA

(iii)	� Kku dks Ldwy ds ckgjh thou ls tksM+us 

dk ç;klA

(iv)	� i<+kbZ dks jaVr ç.kkyh ls eqDr djukA

(v)	� d{kk&d{k dks xfrfof/k;ksa ls tksM+ukA

vr% ge dg ldrs gSa fd jf'e viuh d{kk 

dks ckgj eSnku esa ys tkrh gS vkSj i;kZoj.k 

ij vk/kkfjr dfork&ikB dk dk;Z djrh gSA 

jf'e dk mís'; gS] eSnku ds çkÏfrd okrkoj.k 

ds lkFk laca/k tksM+rs gq, dfork dks le>us 

dk volj nsukA

143.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk es avkdyu djus ds ckn 

egRoiw.kZ lksiku gksuk pkfg, fd vkdyu ls 

çkIr vk¡dM+ksa ds vk/kkj ij cPpksa ds vfHkHkkodksa 

ls fopkj&foe'kZ djsaA

eq[; fcUnqµ
(i)	� Hkk"kk vkdyu }kjk vfHkHkkodksa dks 

vius cPps ds dke ds ckjs esa tkudkjh 

feyrh gSA

(ii)	� vfHkHkkod vius cPps dh çxfr ls 

voxr jgrs gSaA

(iii)	� leL;kvksa dks le>dj mipkjkRed 

f'k{k.k esa lgk;d gSA

(iv)	� fgUnh Hkk"kk ds vkdyu ls çkIr vk¡dM+ksa 

dks ^iksVZQksfy;ksa* esa laxzfgr djds j[kk 

tkrk gSA

iksVZQksfy;ks ,d Qkby gS] ftldk laca/k 

fo|kfFkZ;ksa ds vf/kxe ls gksrk gSA fo|kfFkZ;ksa 

}kjk laiUu dk;ks± dk mís';iw.kZ O;ofLFkr 

ladyu tks fo|kfFkZ;ksa ds mÙke ç;klksa ,oa 

Øfed fodkl dks n'kkZrk gS] fo|kfFkZ;ksa dk 

iksVZQksfy;ks dgykrk gSA iksVZQksfy;ks esa Nk=ksa 

ds nSfud] ekfld] okf"kZd rFkk d{kkokj mRÏ"V 

dk;ks± dks lqjf{kr j[kk tkrk gSA fo|kfFkZ;ksa 

ds Hkk"kk laca/kh Øfed fodkl dk vkdyu 

djus ds fy, fdlh f'k{kd dh fuHkZjrk eq[; 

:i ls iksVZQksfy;ks ds voyksdu ij gksrh gSA

144.	 fodYi (3) mfpr gSA

O;k[;kµfo|ky; esa ,d ls vf/kd Hkk"kkvksa 

dk f'k{k.k cgqHkkf"kdrk vkSj jk"Vªh; ln~Hkko 

dk çlkj djrk gSA

eq[; fcUnqµ

(i)	� blds vUrxZr nks ;k mlls vf/kd 

Hkk"kkvksa dk ç;ksx fd;k tkrk gSA

(ii)	� Cywe QhYM ds vuqlkjµßcgqHkkf"kdrk 

dh fLFkfr rc iSnk gksrh gS tc O;fDr 

fdlh ,sls lekt esa jgrk gS tks mldh 

ekr`Hkk"kk ls vyx Hkk"kk cksyrk gS vkSj 

ml lekt esa jgrs gq, og ml vU; 

Hkk"kk esa bruk ikjaxr gks tkrk gS fd 

ml Hkk"kk dk ç;ksx ekr`Hkk"kk dh rjg 

dj ldrk gSAÞ

Hkk"kk f'k{k.k ds ckjs esa johUæukFk Hkk"kk f'k{k.k 

dk ifjp; nsrs gq, fy[krs gSa fdµßHkk"kk f'k{k.k 

ds ewy esa Hkk"kk O;ogkj vkSj Hkkf"kd dkS'ky gksrs 

gSa Lo;a Hkk"kk dh viuh lajpuk ;k çÏfr ughaAÞ

145.	 fodYi (2) mfpr gSA

O;k[;kµHkk"kk&f'k{k.k dh ^çR;{k fof/k* esa 

Hkk"kk&vtZu dh LokHkkfod fLFkfr dk fuekZ.k 

gksrk gSA

eq[; fcUnqµ

(i)	� blds vUrxZr fcuk O;kdj.k ds fu;eksa 

dh Hkk"kk fl[kkbZ tkrh gSA

(ii)	� okrkZyki ds ek/;e ls Hkk"kk ds lh[kus 

ij vf/kd cy fn;k tkrk gSA

(iii)	� ekSf[kd o fyf[kr vH;kl }kjk Hkk"kk 

fl[kkbZ tkrh gSA

(iv)	� çR;{k fof/k esa JO;&n`'; lkexzh dk 

Hkh ç;ksx fd;k tkrk gSA

(v)	� okLrfod ifjfLFkfr;ksa esa Hkk"kk ds 

O;kogkfjd :iksa dks lgt :i ls lh[kuk 

gh çR;{k fof/k dh fo'ks"krk gSA

bl fof/k esa ekSf[kd o fyf[kr vH;kl }kjk 

lh/ks u;h Hkk"kk fl[kk;h tkrh gSA

bl fof/k esa okrkZyki ds ek/;e ls lh[kus 

ij vf/kd cy fn;k tkrk gSA

;g fof/k O;kdj.k fof/k ds nks"kksa dks nwj djus 

esa ç;ksx esa yk;h tkrh gSA

bl fof/k esa O;kdj.k dk Kku vçR;{k :i 

ls fn;k tkrk gSA

146.	 fodYi (1) mfpr gSA

O;k[;kµHkk"kk esa jpukRed vkdyu dk 

lokZf/kd csgrj mnkgj.k gS fd cPpksa dks vius 

[kV~Vs&ehBs vuqHko fy[kus ds fy, dgk tk,A

eq[; fcUnqµ

(i)	� vfHkO;fDr dks çdV djus dk lgh 

ek/;e gSA

(ii)	� l`tukRed 'kfDr ds fodkl esa lgk;d 

gSA

(iii)	� laKkukRed O;ogkj esa lq/kkj esa lgk;d 

gSA

(iv)	� O;kogkfjd Kku esa lgk;d gSA

(v)	� jpukRed vkdyu }kjk Nk=ksa dh 

'kSf{kd çxfr dk ewY;kadu fd;k tk 

ldrk gSA

Nk= vius ekSfyd fopkjksa dh vfHkO;fä dks 

fyf[kr :i nsus rFkk fofHkUu mís';ksa ds fy, 

fy[kus dk ek/;e dks pqurs gSaA

147.	 fodYi (4) mfpr gSA

O;k[;kµfgUnh Hkk"kk ds ç'u&i= esa ge bl 

ç'u dks lokZf/kd mfpr ekurs gSaµ ys[kd 

us igkM+ksa ij gksus okyh ckfj'k dk o.kZu ,d 

vyx rjhds ls fd;k gSA vki ckfj'k lEcUèkh 

viuk vuqHko fyf[k,A

eq[; fcUnqµ

(i)	� ckfj'k dk o.kZu djrs gq, Nk= viuh 

Hkk"kk dk ç;ksx djsaxsA

(ii)	� vius vuqHkoksa dks vfHkO;Dr djsaxsA

(iii)	� bl ç'u ls Nk=ksa dh l`tukRed 'kfDr 

dk fodkl gksxkA

(iv)	� blls laKkukRed fodkl gksxkA

(v)	� ckSf¼d {kerk fodflr gksxhA

ç'u&i= esa iwNs x;s ç'uksa dk mís'; ckydksa dh 

Hkk"kk&ç;ksx {kerk dk vkdyu djuk gksrk gSA

vkdyuµvkdyu dks ,d laoknkRed ,oa 

jpukRed çfØ;k ekuk tkrk gS] ftlds  

}kjk f'k{kd dks ;g Kkr gksrk gS fd ckyd 

dk mfpr vf/kxe gks jgk gS ;k ughaA Hkk"kk 

{kerk dk vkdyu ls rkRi;Z cPps dh Hkk"kk 

ç;ksx dh {kerk dks /;ku esa j[kus ls gS] 

vFkkZr~ cPpk fofHkUu lanHkksa esa fdl çdkj 

Hkk"kk ç;ksx dj jgk gSA

148.	 fodYi (2) mfpr gSA

O;k[;kµpkWELdh ds vuqlkj Hkk"kk&vtZu 

{kerk ds dkj.k cPps Hkk"kk lh[krs gSaA
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pkWELdhµ
(i)	� budk ekuuk gS fd ckyd easa Hkk"kk dks 

lh[kus dh {kerk tUetkr gksrh gSA
(ii)	� Hkk"kk&vtZu dh {kerk dqN fuf'pr 

le; rd gksrh gSA
(iii)	� Hkk"kk dks lh[kus gsrq okrkoj.k vkSj 

laLÏfr dk egRoiw.kZ LFkku gksrk gSA
(iv)	� ckyd esa Hkk"kk vf/kxzg.k ;U= (LAD) 

gksrk gS] ftldh lgk;rk ls og fdlh 
Hkh Hkk"kk dks rhoz xfr ls lh[k ikrk gSA

cPpksa esa Hkk"kk vtZu {kerk tUetkr gksrh gSA
cPps Hkk"kk&vtZu {kerk ds dkj.k gh Hkk"kk 
lh[krs gSaA
cPpksa esa Hkk"kk vftZr djus dh lgtkr ;ksX;rk 
gksrh gSA

149.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk&f'k{k.k esa vfuok;Z gSµ 
lexzrkoknh n`f"Vdks.kA
lexzrkoknh n`f"Vdks.kµ
(i)	� ;g gksy ySaXost vçksp ds uke ls Hkh 

tkuk tkrk gSA

(ii)	� ;g Hkk"kk dks lEçs"k.k dk ek/;e ekuus 
vkSj 'kCn&dks'k vkSj okD;xr fu;eksa 
ds cU/ku ds vfrfjDr vU; igyqvksa 
ij Hkh /;ku djrk gSA

(iii)	� ,ulh,Q 2005 ds vk/kkj i= ds 
vuqlkjµßf'k{kk esa Hkk"kk dh Hkwfedk 
dks Bhd <ax ls ljkgus ds fy, gesa 
lexzrkoknh n`f"Vdks.k viukus dh 
t:jr gSA gesa blds lajpukxr] 
lkfgfR;d] lkaLÏfrd] euksoSKkfud 
fLFkfr esa j[kdj bldh iM+rky djuh 
gksxhAÞ

lkfgR; dk iBu&ikBu] okpu vkSj Jo.k 
Hkh Hkk"kk ds laLdkjksa ls ifjfpr djkrk gSA 
yksddFkkvksa dk nknk&nknh ls dgkfu;ksa ds 
:i esa lquukA
cpiu esa dfork] dgkuh] y?kq miU;kl] ;gka 
rd dh dkWfeDl] paid] uanu] ckygal] 
pankekek i<+uk Hkh lkfgR; ls :c: gksuk gSA
lkfgR; ls laokn Hkh Hkk"kk ds lkFk gekjs fj'rksa 
dks çHkkfor djrk gSA

150.	 fodYi (3) mfpr gSA
O;k[;kµfo'ks"k vko';drk okys cPpksa dh 
Hkk"kk dk vkdyu djrs le; mudh {kerk 
vkSj lhekvksa dk /;ku j[kuk pkfg,A
fo'ks"k vko';drk okys cPpsµ
(i)	� bUgsa fof'k"V ckyd Hkh dgrs gSaA
(ii)	� budk ckSf¼d Lrj çk;% lkekU; 

cqf¼yfC/k ls vf/kd vFkkZr~ 120 dh 
lhek esa gksrk gS ;k 'kkjhfjd] ekufld 
n`f"V ls ckf/kr gksrs gSaA

(iii)	� gkoMZ ds vuqlkjµßfof'k"V ckydksa dh 
Js.kh esa os cPps vkrs gSa ftUgsa lh[kus esa 
dfBukbZ dk vuqHko gksrk gS ;k ftudk 
ekufld ;k 'kSf{kd fu"iknu ;k l`tu 
vR;Ur mPp dksfV dk gksrk gS ;k ftudks 
O;kogkfjd lkaosfxd ,oa lekftd 
leL;k,¡ ?ksj ysrh gSa ;k os fofHkUu 
'kkjhfjd viaxrkvksa ;k fucZyrkvksa ls 
ihfM+r jgrs gSa ftlds dkj.k gh muds 
fy, vyx ls fof'k"V çdkj dh f'k{kk 
O;oLFkk djuh gksrh gSAÞ


